Svenska Bridgeférbundet

Silver 8 2019-08-02

Partavling, 38 bord, 75 par. Antal brickor: 40. Medel: 1440.0. Frirond (*) ger egen procent.

Plac Par
1 559
2 524
3 434
4 545
5 529
6 439
7 433
8 428
9 543

10 452
11 446
12 449
13 438
14 549
15 526
16 432
17 436
18 422
19 421
20 534
21 557
22 531
23 429
24 437
25 550
26 544
27 552
28 560
29 539
30 551
31 457
32 535
33 555
34 425
35 553
36 533
37 454
38 424
39 530
40 458
41 521
42 538
43 537
44 430
45 455
46 435
47 532
48 443
49 554
50 427
51 448
52 453
53 459
54 546
55 456
56 442
57 445
58 527
59 431
60 556
61 460
62 447
63 451
64 525
65 528
66 450
67 423
68 536
69 522
70 426
71 558
72 523
73 548
74 444
75 547

Poang

1881.2
1876.1
1827.7
1773.5
1758.8
1722.3
1721.1
1711.3
1696.1
1690.2
1658.3
1624.9
1602.6
1602.3
1600.8
1599.5
1591.8
1581.2
1554.2
1552.5
1531.4
1529.8
1518.2
1513.2
1509.4
1507.9
1505.1
1502.1
1500.1
1493.4
1485.7
1485.4
1482.6
1482.5
1481.7
1472.4
1470.8
1456.7
1445.4
1440.2
1438.4
1432.4
1425.8
1414.7
1413.9
1410.9
1397.9
1396.1
1388.3
1381.6
1359.8
1350.2
1336.2
1304.9
1280.8
1272.1
1270.6
1265.8
1263.5
1261.7
1232.1
1223.7
1216.4
1215.8
1213.2
1199.2
1194.4
1192.1
1176.3
1150.2
1148.9
1128.8
1087.2
1065.3
1054.1

%

65.32
65.14
63.46
61.58
61.07
59.80
59.76
59.42
58.89
58.69
57.58
56.42
55.65
55.64
55.58
55.54
55.27
54.90
53.97
53.91
53.17
53.12
52.72
52.54
52.41
52.36
52.26
52.16
52.09
51.85
51.59
51.58
51.48
51.48
51.45
51.13
51.07
50.58
50.19
50.01
49.95
49.74
49.51
49.12
49.09
48.99
48.54
48.48
48.20
47.97
47.22
46.88
46.39
45.31
44.47
44.17
44.12
43.95
43.87
43.81
42.78
42.49
42.23
42.22
42.13
41.64
41.47
41.39
40.84
39.94
39.89
39.20
37.75
36.99
36.60

Namn

Ida Gronkvist - Ola Rimstedt

Sven Ake Bjerregard - Daniel Gullberg
Peter Bertheau - Simon Hult

Dan Johansson - Bo Wiker

Mikael Rimstedt - Yvonne Wiseman
Hauke de Vries - Paul Jansen
Ann-Sophie Andersson - Matias Rohrberg
Bjorn Wenneberg - Claes Melin

Eric Arvidsson - Karl Asplund

Mari Lindblom - Peter Swensson
Gunnar Hallberg - Christian Lahrmann
Thomas Ekendahl - Barbara Ekendahl
Kenneth Karlsson - Romuald Grudzinski
Michael Runfors - Mikael Hallin

Daniel Anteryd - Johannes Matsson
Jonatan Johansson - Emma Karlsson
Charlotta Jonsson - Leif Lyngmo

Erik Hansson - Martin Lindfors

Markus Bertheau - Fredrik Wahlberg
Isis Lundqyvist - Kathrine Bertheau

Nico Ranson - John McMahon
Kenneth Osterberg - Fredrik Wickstrom
Adam Stokka - Ylva Strandberg
Elisabeth Stanley - John-Erik Hornfeldt
Svein Gunnar Karlberg - Sara Asplund Sivelind
Erik Eriksen - Finn Fyllingslid

Eva Klingspor - Anna-Karin Persson
Andreas Westman - Bo-Henry Ek
David Wrang - Erik Fryklund

Johan Erlandsson - Alf Roos

Gun Réhnisch - Claus Réhnisch

Hakan Florestedt - Martin Florestedt
Christian Bergek - Anna Bergek
Lennart Eriksson - Nils Andersson
Daniel Jonsson - Kristina Jonsson

Kjell Evensen - Anders lhalainen

Par Ol-Mars - Tommy Linder

Lena Schalin - Ronny Schalin

Leif Axelsson - Fredrik Axelsson
Ann-Sofie Axelsson - Suzanne Lemborn
Masha Lindbéck - Daniel Lindbéck
Gunnar Gothberg - Marie Géthberg
Olga Frampol - Larisa Feldman
Lars-Goran Jonsson - Ted Olows
Lennart Persson - Stefan Westlund
Oskari Koivu - Hermanni Huhtamaki
Patrik Elofsson - Bonnie Clementsson
Ted Jansson - Kjell Hansson

Olafur Valgeirsson - Ragna Olafsdottir
Christer Gallstrom - Allan Christensen
Jenny Rudenstal - Peter Friberg
Birgitta Jernbom-Lundberg - Ulla Johansson
Hjalmar Sandblom - Castor Mann
Jonas Rosenvik - Gosta Viktor

Dejana Sverker - Zlatko Sariev

Kerstin Olausson - Lotta Konradsson
Niklas Hedin - Carmen Tuason

Lars Marcusson - Kerstin Marcusson
Fredrik Norling - Hans Thormar

Berith Finnsson - Henrik Oldenburg
Per Soderberg - Hans-Olof Hallén
Renee Cooper - Andreas Abragi

Lars Hansson - Sven Olof Jern

Timo Tero - Martti Meronen

Sofia Sundstrém - Hannu Oikarainen
Vit Volhejn - Peter Volhejn

Lars Marjoniemi - Maria Grén

Johan Séfsten - Tuva Nilsmark

Dag Josefsson - Ann-Marie Josefsson
Paul Grengel - John Dryden

Bo Aberg - Barbro Aberg

Ylva Karlsson-Uisk - Ahto Uisk

Sven Martensson - Ewa Eriksson
Carl-Johan Carlsson Melin - Christina Melin
Lena Hammarberg - Cary Hammarberg

MID

31083
1058
16757
8042
88184
+1329
39116
1912
16417
996
+966
17307
625
10344
88282
62721
86566
53648
57666
58765
+1263
4700
30515
8807
+490
+1175
85879
23603
87080
17710
10595
12666
92649
9020
56316
11738
5342
91200
1706
1818
82835
14641
+685
8100
2978
+1111
28614
35998
1256
44292
15767
30068
59323
8913
50940
47056
42390
15446
49212
12506
18380
+1260
40795
+1265
53097
+108
14508
35452
51
47220
16941
2802
41916
28436
49083

88183
37167
36107
4014
60233
+12
52703
9105
80064
15345
+911
52284
46038
4053
52882
58290
85153
64085
20396
81089
+1262
4496
9217
4866
16660
+1176
15782
2381
80722
92856
4081
8861
92648
3543
15266
4892
13938
713
93699
14984
9121
19806
+686
8281
13174
+1060
55628
35997
9197
65809
24487
84354
58464
3760
+669
47879
89810
16365
9231
9549
9896
58640
40796
+238
35098
+1191
28267
65447
17734
52970
16940
2801
80479
29977
49084

Klubb

BK S:t Erik - Harplinge BK
BK S:t Erik - BK Bjorken
Uppsalabridgen - BK S:t Erik
Fagersta BS

Harplinge BK - Filbyter Bridge
Netherlands

Rimbo BK - BK S:t Erik

BK ALERT - BK S:t Erik
LudvikaBygdens BK
Varnamo BK

England - Danmark

Arboga BK

Malungs BK

Orebridgen - Lindesbergs BS
Karlstads BK

Luled BK

Skéanninge BK - Motala Bridgeallians

Borléange BK - Filbyter Bridge
Filbyter Bridge - BK S:t Erik
BK Albrekts - BK S:t Erik
Australia

Hassleholms BK

BK S:t Erik

ABB BK

Norge - LudvikaBygdens BK
Norge

Norrkopingsbridgen
Sundsvallsbridgen - Orebridgen
BK S:t Erik - Filbyter Bridge
Varnamo BK

Orebridgen

BK S:t Erik

BK Lyx

BK S:t Erik - ABB BK

Géavle BK

Askims BK - Lerums BK

BK S:t Erik - Norsjé BK
Bridgeklubben Karlskrona
Skévde BA

Skovde BA - Karlstads BK

IK MAKKABI

Nora BK - Orebridgen
Russia

BK Hudik - Storsjobygdens BK
Géavle BK

Finland

Skoévde BA - Malmo BK
Mariehamns BK

Atrans BK

Katrineholms BA

BK S:t Erik

BK Bjorken

BK S:t Erik - Borlange BK
BK S:t Erik

Orebridgen - Bulgaria
Orebridgen - Kronhusklubben
BK S:t Erik

Orebridgen

IK MAKKABI

Boden-Séavast BS - Luled BK
Norrorts Bridge - Malmé BK
Australien - BK S:t Erik
Asper6-Branno BK

Finland

Trosa BS - Karlstads BK
Czech Republic
Hallstahammars BK - ABB BK
Uppsalabridgen - BK S:t Erik
Folkare BK

BK S:t Erik

Hedemora BS
Uppsalabridgen

BK S:t Erik

Hedemora BS

BK S:t Erik
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1 a74 Basta kontrakt 2 4 Kn653 Basta kontrakt 3 K64 Basta kontrakt
Nord v Kn965 INT O =-1520 Ost v D976 2NT S =120 Syd v KKn9 34 S =140
Ingen ¢+ Kn754 NS + K8 ov + D1092
#Kn52 & ¢ v & NT #EK9 & ¢ v & NT #652 & ¢ v & NT
« EK1082 453 NOO110 « KD84 109 N9 7 8 88 a7 « ED108 N488 95
v ED7 v K83 S00110 v43 vEKn1052 S 9 7 8 8 8 v432 v 865 S4888965
.- ¢ EKD1092 O 1313121213 ¢ DKn542 ¢ 103 0465565 + K83 ¢ 654 0955 48
#EKD74 #109 V 1313121213 #53 D874 V46555 #EKKN1073 #D84 V95548
4 DKn96 s E72 & Kn9532
v 1042 v K8 v ED107
+ 863 ¢+ E976 ¢ EKn7
#3863 #Kn1062 *9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
425 456 6NV -1 «Q 50 66.0 6.0(550 533 3NS+1 &K 630 72.0 0.0(560 521 44DV -2 &2 500 720 0.0
431 450 7#V-1 v6 50 66.0 6.0(431 450 3NS= s K 600 69.0 3.0(432 451 34DV-1 43 200 69.0 3.0
455 426 6NO-1 2 50 66.0 6.0(455 426 3NS= &K 600 69.0 3.0|535 546 44DV -1 #Q 200 69.0 3.0
536 547 6NV-1 %2 50 66.0 6.0(429 452 2v O-3 &A 150 64.0 8.0|524 557 34 S+1 &A 170 66.0 6.0
546 537 64 V-1 v9 50 66.0 6.0(521 523 INS+2 3 150 64.0 8.0(531 550 34 S= *K 140 64.0 8.0
565 528 7TNO-1 43 50 66.0 6.0|555 528 24 O-3 ¢K 150 64.0 8.0|421 427 24 S= A 110 53.0 19.0
557 526 7#0O0-1 v2 50 66.0 6.0(560 522 2N S = Ly 120 60.0 12.0 (424 458 24 S= *A 110 53.0 19.0
530 553 5¢ O+1 4Q -420 58.0 14.0 (422 459 34 S= v4 110 57.0 15.0 (452 431 24 S= *A 110 53.0 19.0
525 558 3NV +4 v6 -520 55.0 17.0 (454 427 34 S= v5 110 57.0 15.0|529 552 24 S= A 110 53.0 19.0
556 527 3NV +4 ¢5 -520 55.0 17.0 (425 456 2v O-2 &J 100 53.0 19.0 (545 536 24 S= *A 110 53.0 19.0
424 457 68V = v6 -920 51.0 21.0(449 432 2v O-2 &A 100 53.0 19.0 (547 534 24 S= *A 110 53.0 19.0
560 522 6¢ O = v2 -920 51.0 21.0|447 434 3NN-1 vJ -100 41.0 31.0|551 530 24 S= A 110 53.0 19.0
549 534 64 V= Ly -980 48.0 24.0 (453 428 3NS-1 &K -100 41.0 31.0 (553 528 24 S= *A 110 53.0 19.0
532 551 6NO = v2 -990 43.0 29.0(524 559 3NS-1 &5 -100 41.0 31.0(556 525 24 S= *A 110 53.0 19.0
545 538 6N O = *6 -990 43.0 29.0 (525 558 3NN-1 #4 -100 41.0 31.0|559 522 24 S= A 110 53.0 19.0
548 535 6N O = 3 -990 43.0 29.0(530 553 3NN-1 T -100 41.0 31.0(445 438 44 V-1 44 100 41.0 31.0
550 533 6N O = v6 -990 43.0 29.0(532 551 3NN-1 *T -100 41.0 31.0(446 437 34 V-1 44 100 41.0 31.0
423 458 6NO+1 4Q -1020 23.0 49.0 (545 538 3NS-1 ¢2 -100 41.0 31.0(423 459 24 S-1 #A -50 29.0 43.0
435 446 6N O +1 #3 -1020 23.0 49.0 (549 534 3NS-1 #4 -100 41.0 31.0|425 457 44 S-1 &K -50 29.0 43.0
442 439 6NO+1 2 -1020 23.0 49.0 (552 531 3NS-1 v4 -100 41.0 31.0|430 453 34 S-1 &A -50 29.0 43.0
445 436 6NO +1 v2 -1020 23.0 49.0(554 529 2NS-1 v4 -100 41.0 31.0|443 442 34 S-1 &A -50 29.0 43.0
447 434 6NV +1 &7 -1020 23.0 49.0 (424 457 3NN-2 T -200 22.0 50.0 |454 429 34 S-1 &A -50 29.0 43.0
448 433 6NO+1 2 -1020 23.0 49.0 (444 437 3NS-2 &K -200 22.0 50.0 |455 428 34 S-1 &A -50 29.0 43.0
449 432 6NO+1 8 -1020 23.0 49.0 (448 433 3NS-2 a2 -200 22.0 50.0 523 558 34 S-1 &K -50 29.0 43.0
451 430 6NO+1 4Q -1020 23.0 49.0 (451 430 3NS-2 &K -200 22.0 50.0 |544 537 34 S-1 &A -50 29.0 43.0
453 428 6NO+1 2 -1020 23.0 49.0 (536 547 3NS-2 ¢4 -200 22.0 50.0|548 533 34 S-1 &A -50 29.0 43.0
454 427 6N O +1 &3 -1020 23.0 49.0 (544 539 3NN-2 ¢2 -200 22.0 50.0|555 526 34 S-1 #A -50 29.0 43.0
460 421 6NO+1 2 -1020 23.0 49.0 546 537 3NS-2 ¢4 -200 22.0 50.0 (460 422 2# V= Ly -90 18.0 54.0
521 523 6NV +1 &3 -1020 23.0 49.0 556 527 3NS-2 ¢4 -200 22.0 50.0 (426 456 34 S-2 &A -100 13.0 59.0
524 559 6NO+1 4Q -1020 23.0 49.0 (557 526 3NS-2 2 -200 22.0 50.0 {450 433 44 S-2 ¢5 -100 13.0 59.0
544 539 6NO+1 4Q -1020 23.0 49.0 (423 458 3NS-3 2 -300 9.0 63.0|549 532 34DS-1 #A -100 13.0 59.0
552 531 6NV +1 #6 -1020 23.0 49.0 (442 439 3NS-3 ¢2 -300 9.0 63.0 (554 527 44 S-2 #A -100 13.0 59.0
554 529 6NO +1 v4 -1020 23.0 49.0 (443 438 3NS-3 ¢4 -300 9.0 63.0(543 538 2N O +1 &5 -150 8.0 64.0
422 459 78V = 3 -1440 5.0 67.0 (548 535 3NS-3 2 -300 9.0 63.0|448 435 44D S-3 &A -500 6.0 66.0
444 437 TV = ¢+ 4 -1440 5.0 67.0 (435 446 3¢ S-4 v4 -400 3.0 69.0 (444 439 3NO= v5 -600 4.0 68.0
429 452 INO = +3 -1520 1.0 71.0 (445 436 44 N-4 T -400 3.0 69.0 436 447 44D S -4 #A -800 2.0 70.0
443 438 7NV = v5 -1520 1.0 71.0 (460 421 44 N-5 T -500 0.0 72.0|449 434 44DS-5 &K -1100 0.0 72.0
543 - 42.4 543 - 42.4 - 539 375
4 47654 Basta kontrakt 5 4964 Basta kontrakt 6 a4 Basta kontrakt
Vast vK7432 3NTV =-600 Nord v Kn932 6NT O =-990 Ost v2 ANT S D -1-100
Alla 453 NS ¢ 752 ov + EKKNn95432
»87 & ¢ v & NT »K65 & ¢ v & NT #1073 & ¢ v & NT
«KKn1l0 4D9 N4 3554 4 EK2 4Kn8753 N15411 4 E652 4 K93 N3 93509
vE5 vDKn108 S4456 4 vE654 vD7 S15411 v 965 vKDKn874 S 3 9 3 5 9
¢ EKKn92 ¢ 1087 099779 ¢KD9 38 O 128 9 1212 ¢+ D7 +10 O 104 107 4
K92 #Kn1065 V99879 «D72 #EKn1043 V 117 9 1111 #EKN94 &D85 V 104 107 4
& E832 4 D10 « DKn1087
v 96 v K108 vE103
+ D64 + EKn10643 + 86
#ED43 #9838 *K62
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
553 528 4v O-3 v9 300 72.0 0.0(538 549 24 O+4 &T -230 70.0 2.0(551 536 3NS= v5 400 71.0 1.0
423 459 3NV -2 a7 200 69.0 3.0(554 533 24 O+4 &9 -230 70.0 2.0(557 530 3NS= v5 400 71.0 1.0
426 456 3NV-2 4 200 69.0 3.0(559 528 24 V+4 ¢2 -230 70.0 2.0(425 458 5v O-1 +38 100 67.0 5.0
421 427 3NV-1 45 100 60.0 12.0 (450 435 44 V+1 ¢5 -450 65.0 7.0(559 528 5v O-1 «Q 100 67.0 5.0
425 457 3NV-1 45 100 60.0 12.0 (534 553 44 V+1 ¢2 -450 65.0 7.0|532 555 4¢ N-1 ¢K -50 64.0 8.0
446 437 3NV-1 45 100 60.0 12.0 (422 428 44 O+2 &9 -480 44.0 28.0|437 448 5¢ N-2 ¢K -100 57.0 15.0
448 435 3NV-1 a5 100 60.0 12.0 (425 458 44 O+2 v6 -480 44.0 28.0 (449 436 5¢DN-1 ¢K -100 57.0 15.0
452 431 3NV-1 45 100 60.0 12.0 (426 457 44 O+2 8 -480 44.0 28.0|526 522 5¢ N-2 ¢K -100 57.0 15.0
454 429 3NV-1 &7 100 60.0 12.0 (427 456 44 O+2 v38 -480 44.0 28.0|538 549 5¢ N-2 ¢K -100 57.0 15.0
545 536 3NV-1 a7 100 60.0 12.0 (433 452 44 O+2 +A -480 44.0 28.0|546 543 4¢DN-1 ¢K -100 57.0 15.0
432 451 2NV = a7 -120 49.0 23.0 (437 448 44 V+2 2 -480 44.0 28.0 (552 535 4¢DN-1 vK -100 57.0 15.0
543 538 INV+1 &5 -120 49.0 23.0 (445 442 44 O+2 +A -480 44.0 28.0 (545 544 3v O+1 +38 -170 50.0 22.0
554 527 2NV = a7 -120 49.0 23.0 (446 439 44 V+2 42 -480 44.0 28.0(527 521 3v O+2 +8 -200 48.0 24.0
559 522 2NV = 46 -120 49.0 23.0 (449 436 44 O+2 +A -480 44.0 28.0 (460 423 44 S-5 v9 -250 46.0 26.0
445 438 2NV +1 &7 -150 44.0 28.0 (451 434 44 V+2 44 -480 44.0 28.0 (421 429 5¢DN-2 ¢vK -300 25.0 47.0
430 453 INV+4 92 -210 42.0 30.0 {453 432 44 O+2 +A -480 44.0 28.0 (422 428 5¢DN-2 ¢K -300 25.0 47.0
443 442 3NV = a7 -600 34.0 38.0 (460 423 44 O+2 %9 -480 44.0 28.0 (424 459 5¢DN-2 T -300 25.0 47.0
449 434 3NV = v3 -600 34.0 38.0 (526 522 44 O+2 +A -480 44.0 28.0 426 457 6¢DN-2 vK -300 25.0 47.0
450 433 3NV = 8 -600 34.0 38.0(532 555 44 O+2 +¢38 -480 44.0 28.0 (431 454 5¢DN-2 ¢K -300 25.0 47.0
531 550 3NV = 46 -600 34.0 38.0|550 537 44 O+2 +¢A -480 44.0 28.0|433 452 5¢DN-2 ¢K -300 25.0 47.0
535 546 3N O = v3 -600 34.0 38.0 (551 536 44 V+2 44 -480 44.0 28.0 (444 443 5¢DN-2 ¢vK -300 25.0 47.0
548 533 3NV = a7 -600 34.0 38.0|556 531 44 O+2 +A -480 44.0 28.0 (445 442 6¢DN-2 ¢K -300 25.0 47.0
556 525 3NV = v3 -600 34.0 38.0 (557 530 44 V+2 ¢5 -480 44.0 28.0 (446 439 5¢DN-2 ¢3 -300 25.0 47.0
424 458 3NV +1 3 -630 15.0 57.0 (560 524 44 O+2 &9 -480 44.0 28.0|447 438 5¢DN-2 ¢vK -300 25.0 47.0
436 447 3NV +1 @2 -630 15.0 57.0 (431 454 3NV +3 ¢7 -490 16.0 56.0 [450 435 5¢DS-2 vJ -300 25.0 47.0
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444 439 3NV +1 3 -630 15.0 57.0 (444 443 3NV +3 ¢2 -490 16.0 56.0 (453 432 5¢DN-2 vK -300 25.0 47.0
455 428 3NO+1 43 -630 15.0 57.0(523 525 3NV +3 45 -490 16.0 56.0 (523 525 5¢DN-2 v5 -300 25.0 47.0
460 422 3NO+1 &A -630 15.0 57.0 (527 521 3NV +3 +¢2 -490 16.0 56.0|534 553 5¢DN-2 vK -300 25.0 47.0
523 558 3NV +1 ¢33 -630 15.0 57.0 (545 544 3NV +3 ¢2 -490 16.0 56.0|548 539 5¢DN-2 vK -300 25.0 47.0
524 557 3NV +1 2 -630 15.0 57.0 (546 543 3NV +3 ¢2 -490 16.0 56.0 |550 537 5¢DN-2 ¥vK -300 25.0 47.0
529 552 3NV +1 2 -630 15.0 57.0 (548 539 3NV +3 &5 -490 16.0 56.0 |554 533 5¢DN-2 vK -300 25.0 47.0
544 537 3NV +1 2 -630 15.0 57.0(552 535 3NV +3 ¢2 -490 16.0 56.0 (556 531 5¢DN-2 v6 -300 25.0 47.0
547 534 3NV +1 ¢3 -630 15.0 57.0(558 529 3NV +3 ¢7 -490 16.0 56.0 (558 529 5¢DN-2 vK -300 25.0 47.0
549 532 3NV +1 &5 -630 15.0 57.0 (421 429 3NV +4 ¢2 -520 3.0 69.0|560 524 5¢DN-2 ¥vK -300 25.0 47.0
560 521 3NV +1 2 -630 15.0 57.0 (424 459 3NV +4 ¢7 -520 3.0 69.0 (427 456 6¢DN-3 ¥K -500 4.0 68.0
551 530 3NV +2 48 -660 1.0 71.0 (447 438 3NV +4 2 -520 3.0 69.0(451 434 4v O= +8 -620 2.0 70.0
555 526 3NV +2 ¥3 -660 1.0 71.0(455 430 3NV +4 ¢2 -520 3.0 69.0(455 430 4vDV= 48 -790 0.0 72.0
- 539 37.5 |547 - 26.4 547 - 26.4
7 4 EK754 Bésta kontrakt 8 & K965 Bésta kontrakt 9 4765 Bésta kontrakt
Syd v K1094 44V =-130 Vast va 2¢ N =90 Nord v K73 5NTV =-660
Alla ¢ Kn532 Ingen + KD109 ov + EKn106
»- & ¢ v & NT #KD102 & ¢ v & NT #Kn83 & ¢ v & NT
41083 & Kn2 N3 66 84 « ED87 4432 N8 86 76 4 KKn104 «ED N2 4222
vD v E8762 S376 84 vDKn1065 v97 S77676 v 984 v ED1062 S24222
+ E96 + K84 O 106 6 4 8 +76 ¢ EKn32 O556 6 6 * K2 + D97 O 109 11109
#EKKn854 #963 V 106 6 4 8 #83 #EKN76 V557866 »K542 »E76 vV 109 111111
4 D96 4 Knl0 #9832
v Kn53 v EK832 v Kn5
+ D107 ¢854 + 8543
#D1072 #9054 D109
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
446 443 34DN= &6 730 72.0 0.0|550 535 2¢vyDO-2 4J 300 720 0.0(525 527 4y O-2 49 200 72.0 0.0
422 430 34 N= *3 140 66.0 6.0(558 527 2NN +2 &6 180 70.0 2.0(439 450 3NO-1 ¢5 100 700 2.0
426 458 34 N= 3 140 66.0 6.0(427 457 INS+1 ¢Q 120 66.0 6.0(553 538 3y O= *5 -140 68.0 4.0
428 456 24 N+1 43 140 66.0 6.0(428 456 2NN = *2 120 66.0 6.0(423 431 3NO= +8 -600 60.0 12.0
434 453 34 N= *2 140 66.0 6.0(445 444 INS+1 a7 120 66.0 6.0(424 430 3NO= +8 -600 60.0 12.0
549 536 24 N+1 v2 140 66.0 6.0(434 453 2¢ N+1 v9 110 58.0 14.0 (428 457 3N O = *9 -600 60.0 12.0
550 535 24 N= *2 110 59.0 13.0 (447 442 2¢ N+1 &7 110 58.0 14.0 (433 421 3NO= *4 -600 60.0 12.0
555 530 24 N= *3 110 59.0 13.0 (450 437 3¢ S= v5 110 58.0 14.0 (452 437 3NO= *4 -600 60.0 12.0
438 449 44 V-1 &A 100 53.0 19.0 (531 554 2& N+1 v6 110 58.0 14.0 (549 544 3N O = ¢+ 4 -600 60.0 12.0
537 548 44 V-1 4A 100 53.0 19.0 (546 539 2¢ N+1 9 110 58.0 14.0 (552 539 3N O = +6 -600 60.0 12.0
544 543 44 V-1 4A 100 53.0 19.0 (425 459 24 V-2 ¢K 100 50.0 22.0(422 432 4y O= *4 -620 49.0 23.0
560 523 44 V-1 4A 100 53.0 19.0 (448 439 24 O-2 YA 100 50.0 22.0 (429 456 4y O= 45 -620 49.0 23.0
460 424 INS= *A 90 48.0 24.0|533 552 2¢yDO-1 «#K 100 50.0 22.0 (453 436 4y O= ¢4 -620 49.0 23.0
553 532 2& V= s A -90 46.0 26.0 (421 431 2¢ N= 2 90 40.0 32.0|522 530 4v O= 43 -620 49.0 23.0
425 459 34 N-1 43 -100 44.0 28.0 (422 430 2¢ N= v9 90 40.0 32.0|426 459 4y O+1 43 -650 28.0 44.0
445 444 24V +1 A A -110 34.0 38.0 (446 443 2¢ N= va 90 40.0 32.0|427 458 4v O+1 45 -650 28.0 44.0
447 442 24V +1 & A -110 34.0 38.0 (537 548 INS= vQ 90 40.0 32.0|446 445 4v O+1 ¢4 -650 28.0 44.0
526 559 3& V= s A -110 34.0 38.0 (551 534 INS= vQ 90 40.0 32.0|447 444 4y O+1 &T -650 28.0 44.0
531 554 3& V= s A -110 34.0 38.0 (555 530 2# N = v9 90 40.0 32.0|448 443 4y O+1 43 -650 28.0 44.0
533 552 3& V= s A -110 34.0 38.0 (560 523 INS= vQ 90 40.0 32.0|460 425 4y O+1 43 -650 28.0 44.0
551 534 24V +1 &K -110 34.0 38.0(423 429 24 V-1 v4 50 32.0 40.0|521 531 4v O+1 ¢4 -650 28.0 44.0
556 529 2& V+1 4A -110 34.0 38.0 (426 458 Pass 30.0 42.0(529 523 4y O+1 ¢4 -650 28.0 44.0
557 528 24 V+1 &A -110 34.0 38.0(525 521 INS-1 ¢7 -50 22.0 50.0 (534 557 4y O+1 +¢5 -650 28.0 44.0
558 527 3& V= s K -110 34.0 38.0(526 559 INS-1 v6 -50 22.0 50.0 (536 555 4y O+1 ¢4 -650 28.0 44.0
421 431 34 V+1 &A -130 17.0 55.0 (544 543 INS-1 vQ -50 22.0 50.0 (547 546 4y O+1 5 -650 28.0 44.0
423 429 4& V= s A -130 17.0 55.0 (549 536 2¢ N-1 v9 -50 22.0 50.0 (548 545 4y O+1 +¢38 -650 28.0 44.0
427 457 34V +1 &A -130 17.0 55.0 (553 532 2¢ N-1 ¢9 -50 22.0 50.0 (550 543 4y O+1 ¢4 -650 28.0 44.0
448 439 44V = s A -130 17.0 55.0 (556 529 3¢ N-1 v9 -50 22.0 50.0 (556 535 4y O+1 +¢6 -650 28.0 44.0
450 437 34 O+1 46 -130 17.0 55.0 (557 528 2¢ N-1 v9 -50 22.0 50.0 (558 533 4y O+1 &9 -650 28.0 44.0
525 521 34V +1 &K -130 17.0 55.0 (432 455 INS-2 +¢Q -100 10.0 62.0 (559 532 4y O+1 ¢4 -650 28.0 44.0
546 539 3& V+1 &K -130 17.0 55.0 (451 436 2N S-2 &8 -100 10.0 62.0|560 526 4y O+1 ¢4 -650 28.0 44.0
547 538 3& V+1 4A -130 17.0 55.0 (460 424 2¢ N-2 v9 -100 10.0 62.0 (435 454 3NO+2 ¢4 -660 8.0 64.0
452 435 44 V+1 & A -150 8.0 64.0(522 524 INN-2 ¢5 -100 10.0 62.0 (455 434 3NO+2 ¢4 -660 8.0 64.0
522 524 34 N-2 ¢7 -200 6.0 66.0 (547 538 INS-2 ¥Q -100 10.0 62.0 (554 537 3NO+2 49 -660 8.0 64.0
432 455 34 N-3 &3 -300 4.0 68.0(438 449 2v S-4 &8 -200 3.0 69.0 (449 442 4v O+2 vJ -680 3.0 69.0
451 436 34 N-4 &3 -400 2.0 70.0(454 433 3NN-4 ¢5 -200 3.0 69.0 (451 438 4v O+2 vJ -680 3.0 69.0
454 433 3NV +1 «4 -630 0.0 72.0(452 435 2vyDS-2 ¢7 -300 0.0 72.0(528 524 3NO+3 vJ -690 0.0 72.0
545 - 44.3 545 - 44.3 - 551 37.3
10 4 EKKn10 Basta kontrakt 11 4 D72 Basta kontrakt 12 4 ED95 Basta kontrakt
Ost vE642 44 S =620 Syd vED 24 V =-110 Vast v 754 34 VD-1100
Alla ¢ E732 Ingen + K108 NS + K7
*7 & ¢ v & NT #DKn1093 & ¢ v & NT #EDKn7 & ¢ v & NT
485 476 N 4 4 10107 & KKn5 410963 N7 5556 4 Kn6 4K108742 N 8 9 7 5 7
v10 vKD8 S 4 4 10107 vK109872 v5 S756586 v EK1093 v8 S89757
+ KDKn105 ¢ 9864 O6 8 336 + D5 ¢ EKn962 O587 86 4983 ¢ EKn5 044576
#EKKN62 #D1054 V 6 83 36 »K7 #865 V58786 »K63 #1094 V54686
4 D9432 ~ E84 43
v Kn9753 v Kn643 v DKn62
.- 743 + D10642
#0983 *E42 #852
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
446 445 54DV -5 4K 1400 72.0 0.0|429 457 3¢DO-2 v4 300 72.0 0.0(434 422 34DO-4 ¢2 800 72.0 0.0
428 457 34DV -3 &A 800 68.0 4.0|553 536 3 N+1 ¥5 130 70.0 2.0(449 444 3NS= vK 600 70.0 2.0
439 450 44DV -3 &K 800 68.0 4.0(421 435 2NN= 2 120 61.0 11.0 (553 536 44D O-2 ¢2 300 68.0 4.0
559 532 5¢DV-3 #K 800 68.0 4.0(428 458 INN+1 ¢2 120 61.0 11.0 (560 525 INN+1 «4 120 66.0 6.0
423 431 44 S= *A 620 55.0 17.0(436 455 INN+1 ¢3 120 61.0 11.0 (447 446 3¢ S= vA 110 62.0 10.0
424 430 44 S= + K 620 55.0 17.0(448 445 INS+1 ¢Q 120 61.0 11.0 (448 445 3¢ S= vA 110 62.0 10.0
427 458 44 S= *A 620 55.0 17.0(528 522 2N N= 6 120 61.0 11.0 (559 530 3¢ S= *3 110 62.0 10.0
433 421 4v S= *A 620 55.0 17.0|557 532 2N N= 2 120 61.0 11.0 (421 435 24 O-2 &2 100 54.0 18.0
435 454 4y S = *A 620 55.0 17.0|559 530 2N N= 2 120 61.0 11.0 (428 458 34D O-1 ¢2 100 54.0 18.0
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449 442 4y N= +5 620 55.0 17.0|560 525 2N N = 2 120 61.0 11.0 (454 437 34 O-2 3 100 54.0 18.0
451 438 4v S= *A 620 55.0 17.0|449 444 34 N= v5 110 50.0 22.0 (460 426 24 O-2 ¢2 100 54.0 18.0
452 437 4y N= *Q 620 55.0 17.0|460 426 24 S= vK 110 50.0 22.0 (527 523 24 O-2 ¢2 100 54.0 18.0
455 434 44 S = *A 620 55.0 17.0|551 538 3# N= v5 110 50.0 22.0 (555 534 INS-= ] 90 48.0 24.0
560 526 4v S = *A 620 55.0 17.0(539 550 2v V-2 &Q 100 46.0 26.0 (424 432 24 O-1 ¢2 50 32.0 40.0
448 443 56DV -2 4A 500 40.0 32.0 (430 456 INS= v6 90 43.0 29.0|427 459 24 O-1 2 50 32.0 40.0
521 531 5¢DV-2 #4A 500 40.0 32.0|535 554 2# S= v5 90 43.0 29.0|430 456 14 O-1 ¢2 50 32.0 40.0
522 530 5¢DV-2 #4A 500 40.0 32.0(443 450 2¢ O-1 &A 50 37.0 35.0|436 455 24 O-1 ¢2 50 32.0 40.0
562 539 54DV -2 #4A 500 40.0 32.0(452 439 2v V-1 &Q 50 37.0 35.0|443 450 34 O-1 +¢6 50 32.0 40.0
554 537 5¢DV-2 #4A 500 40.0 32.0|527 523 2v V-1 &Q 50 37.0 35.0|452 439 24 O-1 ¢2 50 32.0 40.0
426 459 4¢DV -1 &A 200 32.0 40.0|558 531 2v V-1 &J 50 37.0 35.0|524 526 24 O-1 2 50 32.0 40.0
536 555 5¢DV-1 4A 200 32.0 40.0 (423 433 3NN-1 ¢2 -50 25.0 47.0(528 522 34 O-1 +vQ 50 32.0 40.0
558 533 5¢DV-1 4K 200 32.0 40.0|425 431 3#N-1 ¥5 -50 25.0 47.0(533 556 24 O-1 2 50 32.0 40.0
429 456 34 S+1 K 170 22.0 50.0 (427 459 3NS-1 v9 -50 25.0 47.0535 554 24 O-1 2 50 32.0 40.0
447 444 34 S+1  #A 170 22.0 50.0 (434 422 3NN-1 2 -50 25.0 47.0(546 545 2v V-1 v4 50 32.0 40.0
453 436 34 N+1 &5 170 22.0 50.0 (442 451 3&# N-1 v5 -50 25.0 47.0 (547 544 24 O-1 ¢4 50 32.0 40.0
460 425 3v N+1 &5 170 22.0 50.0 (521 529 3&# N-1 ¥5 -50 25.0 47.0 (551 538 24 O-1 ¢2 50 32.0 40.0
525 527 34 N+1 9 170  22.0 50.0 (546 545 3# N-1 v5 -50 25.0 47.0 (557 532 24 O-1 ¢4 50 32.0 40.0
557 534 2v N+2 &2 170 22.0 50.0 [555 534 2&# N-1 v5 -50 25.0 47.0(558 531 34 O-1 2 50 32.0 40.0
556 535 2v N+2 &5 170 22.0 50.0 (424 432 3&# N-2 v5 -100 11.0 61.0 (423 433 INV= 45 -90 16.0 56.0
553 538 3v N = *5 140 14.0 58.0 (447 446 3& N-2 &2 -100 11.0 61.0(425 431 14 N-1 +v8 -100 13.0 59.0
528 524 4¢ V-1 &7 100 9.0 63.0(453 438 2NS-2 +¢Q -100 11.0 61.0|429 457 3¢ S-1 ¢K -100 13.0 59.0
547 546 3¢ V-1 &7 100 9.0 63.0(454 437 2NN-2 45 -100 11.0 61.0 (442 451 24 O = vQ -110 6.0 66.0
549 544 4¢ V-1 &A 100 9.0 63.0|533 556 3# N-2 v5 -100 11.0 61.0 (453 438 24 O = 2 -110 6.0 66.0
550 543 4¢ V-1 4A 100 9.0 63.0552 537 3&# N-2 ¥5 -100 11.0 61.0|521 529 24 O= 2 -110 6.0 66.0
422 432 54 N-1  ¢9 -100 3.0 69.0 (547 544 2v V= *Q -110 4.0 68.0(548 543 24 O = vK -110 6.0 66.0
529 523 5v S-1 #A -100 3.0 69.0(524 526 2NS-3 v9 -150 1.0 71.0|552 537 24 O= 6 -110 6.0 66.0
548 545 5¢vDS-1 +¢K -200 0.0 72.0(548 543 3# N-3 ¢5 -150 1.0 71.0(539 550 3NDN-2 ¢5 -500 0.0 72.0
- 551 37.3 1549 - 40.1 549 - 40.1
13 & K432 Basta kontrakt 14 4 K108654 Basta kontrakt 15 410952 Basta kontrakt
Nord v 85 54 N =650 Ost v 865 2NT S =120 Syd v 9532 34V =-110
Alla + D82 Ingen + K5 NS + Kn6
#ED96 & ¢ v & NT +D4 & ¢ v & NT #DKn10 & ¢ v & NT
4 Kn98 10 N 107 6 1110 «ED 4 Kn732 N59 7 88 4 DKn64 & K87 N46 866
vDKn972 vK63 S 107 6 1110 v 972 vKD43 S597 88 vKn v 1086 S 46866
¢ Kn75 ¢+ E10964 0366 23 + 1084 ¢ Kn7 07 465 4 +D972 +EK4 097 476
#K3 #10742 V366 23 #K10632 #E85 V746054 #7654  #E983 V97476
4 ED765 49 4E3
vE104 v EKn10 vEKD74
+ K3 + ED9632 410853
#Kn85 #Kn97 *K2
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
453 442 44 S+2 vQ 680 72.0 0.0(448 447 3NV-5 ¢K 250 72.0 0.0(438 422 3vDS+1 &5 930 72.0 0.0
422 436 44 N+1 &4 650 48.0 24.0 (425 433 3#0-3 46 150 70.0 2.0(548 547 4y N= ¢A 620 70.0 20
424 434 44 S+1  vQ 650 48.0 24.0|424 434 24 N+1 ¢K 140 68.0 4.0(454 443 2v S+2 vJ 170 68.0 4.0
428 459 44 S+1 42 650 48.0 24.0 (426 432 3¢ S= v2 110 48.0 24.0 (421 439 INS+2 #4 150 650 7.0
429 458 44 S+1  vQ 650 48.0 24.0 (429 458 3¢ S= »2 110 48.0 24.0 (450 447 44 V-3 #Q 150 65.0 7.0
431 456 44 S+1 vQ 650 48.0 24.0|431 456 3¢ S= *2 110 48.0 24.0 (423 437 2v S+1 &Q 140 51.0 21.0
435 423 44 S+1  vQ 650 48.0 24.0|435 423 3¢ S= 3 110 48.0 24.0 (432 456 3y S= +Q 140 51.0 21.0
443 452 44 S+1  vQ 650 48.0 24.0 (437 421 3¢ S= *2 110 48.0 24.0 (436 424 3v S= 4Q 140 51.0 21.0
448 447 44 S+1  vQ 650 48.0 24.0|451 444 3¢ S= 3 110 48.0 24.0 (449 448 2v S+1 «Q 140 51.0 21.0
449 446 44 S+1  vQ 650 48.0 24.0|454 439 24 N= vK 110 48.0 24.0 (455 442 2v S+1 &Q 140 51.0 21.0
450 445 44 S+1 v6 650  48.0 24.0 (460 427 24 N= vK 110 48.0 24.0 (526 528 2y S+1 4Q 140 51.0 21.0
454 439 44 S+1 ¢33 650 48.0 24.0|521 535 2¢ S+1 v2 110 48.0 24.0 (529 525 3v S= vJ] 140 51.0 21.0
455 438 44 S+1  vQ 650 48.0 24.0|522 534 24 N= vK 110 48.0 24.0 (530 524 3y S= *5 140 51.0 21.0
460 427 44 S+1  vQ 650 48.0 24.0 (523 533 24 N= vK 110 48.0 24.0(535 558 2v N+1 46 140 51.0 21.0
521 535 44 S+1 &K 650 48.0 24.0|524 532 3¢ S= v2 110 48.0 24.0 (554 539 3v S= +Q 140 51.0 21.0
522 534 44 S+1 vQ 650 48.0 24.0|530 526 24 N= vK 110 48.0 24.0 (559 534 2v S+1 &Q 140 51.0 21.0
524 532 44 S+1 48 650 48.0 24.0 (544 553 3¢ S= *2 110 48.0 24.0 (560 527 2v S+1 7 140 51.0 21.0
530 526 44 N+1 &4 650 48.0 24.0|549 548 2¢ S+1 &2 110 48.0 24.0(521 533 INS+1 «Q 120 37.0 35.0
531 525 44 S+1 vQ 650 48.0 24.0|550 547 24 S= 3 110 48.0 24.0 (557 536 INS+1 «Q 120 37.0 35.0
536 559 44 S+1 vQ 650 48.0 24.0|552 545 3¢ S= *6 110 48.0 24.0 (430 458 34 V-2 #Q 100 31.0 41.0
538 557 44 N+1 &2 650 48.0 24.0|556 539 24 N= vK 110 48.0 24.0 ({452 445 34 V-2 #Q 100 31.0 41.0
549 548 44 S+1 vQ 650 48.0 24.0|558 537 3¢ S= v7 110 48.0 24.0 (523 531 34 V-2 ¢J 100 31.0 41.0
550 547 44 S+1 vQ 650 48.0 24.0 (428 459 34D O-1 49 100 26.0 46.0 (537 556 34 V-2 v5 100 31.0 41.0
560 528 44 S+1 48 650 48.0 24.0|538 557 4# O-2 49 100 26.0 46.0 ({425 435 INS= 46 90 24.0 48.0
425 433 44 S= vQ 620 16.0 56.0 (560 528 34 O-2 49 100 26.0 46.0 (429 459 INS-= *Q 90 24.0 48.0
430 457 44 S= v6 620 16.0 56.0|422 436 3+ V-1 +K 50 20.0 52.0|549 546 INS= a4 90 24.0 48.0
437 421 44 S= vQ 620 16.0 56.0 (430 457 3# O-1 9 50 20.0 52.0|426 434 34 V-1 3 50 17.0 55.0
451 444 44 S = vQ 620 16.0 56.0 (455 438 3& V-1 +K 50 20.0 52.0|460 428 44 0O0-1 vQ 50 17.0 55.0
527 529 44 S= vQ 620 16.0 56.0|443 452 24 N-1 vK -50 10.0 62.0 (522 532 24 V-1  ¢J 50 17.0 55.0
544 553 44 S = vQ 620 16.0 56.0 (450 445 24 N-1 v2 -50 10.0 62.0 551 544 24 V-1 #Q 50 17.0 55.0
551 546 44 S= vJ] 620 16.0 56.0 (453 442 34 N-1 vK -50 10.0 62.0 (427 433 4v S-1 4Q -100 8.0 64.0
562 545 44 S= vQ 620 16.0 56.0|527 529 4¢ S-1 v2 -50 10.0 62.0 (444 453 4v S-1 4Q -100 8.0 64.0
556 539 44 S= vQ 620 16.0 56.0 (531 525 24 N-1 ] -50 10.0 62.0 (543 552 4y S-1 46 -100 8.0 64.0
554 543 3N S= vQ 600 6.0 66.0|536 559 3¢ S-1 2 -50 10.0 62.0|550 545 4v S-1 4Q -100 8.0 64.0
568 537 34 S+2 vQ 200 4.0 68.0|551 546 34 N-1 #A -50 10.0 62.0(555 538 3v S-1 vJ -100 8.0 64.0
523 533 34 S+1 vQ 170 2.0 70.0|449 446 34 N-2 vK -100 1.0 71.0|431 457 24 O= v6 -110 1.0 71.0
426 432 44 S-1  ¢5 -100 0.0 72.0|554 543 34DN-1 &A -100 1.0 71.0(451 446 24 V= v9 -110 1.0 71.0
565 - 37.1 5565 - 37.1 5563 - 37.0
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16 4 D7652 Basta kontrakt 17 4 Kn82 Basta kontrakt 18 4 D1065 Basta kontrakt
Vast vD5 INT V =-2220 Nord v Kn654 3NT O =-400 Ost v Kn102 3¢ S =110
ov + Kn964 Ingen ¢ KKn73 NS 49753
&#Kn9 & ¢ v & NT &73 & ¢ v & NT 94 & ¢ v & NT
@- & EK43 NO2040 & K75 «E64 N5 355 4 49732 & KKn4 N7 9887
v KKn1097 vE863 S02040 vE2 v 10987 S53554 v 986 v K754 S79887
+ ED105 +73 O 1311139 13 ¢ E109654 ¢ D8 O 8 108 8 9 +84 ¢ EKKn O6 4556
&#EK32 D107 V 1311139 13 D10 &EKG2 V 8 108 8 9 &#Kn765 #D108 V645575
4 Kn1098 4 D1093 ~E8
v42 v KD3 v ED3
+ K82 *2 + D1062
#8654 #Kn9854 #EK32
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
555 538 6NV -1 &5 100 72.0 0.0(460 429 3NO-2 49 100 71.0 1.0|421 443 2vyDO -3 #A 500 720 0.0
535 558 4y V+2 #J -680 70.0 2.0|524 536 64DV -1 &7 100 71.0 1.0(524 536 INDO-2 +6 300 69.0 3.0
425 435 5v V+2 & -710 62.0 10.0 (445 454 3NV -1 v5 50 65.0 7.0(551 550 24DV -2 ¥J 300 69.0 3.0
449 448 4y V+3 & -710 62.0 10.0|452 447 3NO-1 ¢vK 50 65.0 7.0(427 435 2v O-3 &A 150 64.0 8.0
450 447 5v V+2 &5 -710 62.0 10.0|533 527 3NV-1 a2 50 65.0 7.0(523 537 24 V-3 7 150 64.0 8.0
452 445 5v V+2 &) -710 62.0 10.0|557 544 3NV-1 va 50 65.0 7.0(546 555 2v V-3 &K 150 64.0 8.0
522 532 4v V+3 &J -710 62.0 10.0 [554 547 2¢ V+2 &7 -130 60.0 12.0|560 530 2¢ N+2 +¢A 130 60.0 12.0
529 525 4y V+3 42 -710 62.0 10.0 (427 435 3NO= &2 -400 51.0 21.0(422 442 24 N+1 ¢A 110 53.0 19.0
548 547 5v V+2 46 -710 62.0 10.0 |451 448 3NO= &5 -400 51.0 21.0|426 436 24 N= L 2] 110 53.0 19.0
537 556 3NO+4 v4 -720 54.0 18.0 (523 537 3NO= aT -400 51.0 21.0|451 448 24 N= v5 110 53.0 19.0
432 456 6v V= 46 -1430 51.0 21.0|526 534 3NO = vK -400 51.0 21.0|526 534 24 N= *A 110 53.0 19.0
454 443 6y V= +6 -1430 51.0 21.0(529 531 3NO= &5 -400 51.0 21.0|553 548 2¢ N+1 v4 110 53.0 19.0
421 439 6y V+1 &2 -1460 29.0 43.0538 522 3NO= &4 -400 51.0 21.0(556 545 24 N = *A 110 53.0 19.0
423 437 6y V+1 & -1460 29.0 43.0|552 549 3NV = v5 -400 51.0 21.0(437 425 INO-2 #A 100 42.0 30.0
426 434 6y V+1 & -1460 29.0 43.0|553 548 3NO= &4 -400 51.0 21.0(450 449 INDO-1 ¥5 100 42.0 30.0
427 433 6y V+1 &2 -1460 29.0 43.0 (421 443 3NV +1 a2 -430 33.0 39.0452 447 2v O -2 &A 100 42.0 30.0
429 459 6y V+1 &7 -1460 29.0 43.0 (426 436 3NO+1 48 -430 33.0 39.0 (460 429 2#V-2 46 100 42.0 30.0
430 458 6y V+1 &J -1460 29.0 43.0 (431 458 3NO+1 8 -430 33.0 39.0|554 547 INDO-1 #A 100 42.0 30.0
431 457 6y V+1 &2 -1460 29.0 43.0|433 456 3NO+1 8 -430 33.0 39.0 (439 423 INS= &3 90 36.0 36.0
438 422 6y V+1 & -1460 29.0 43.0|437 425 3NV +1 a2 -430 33.0 39.0(430 459 INO-1 #A 50 31.0 41.0
444 453 6y V+1 & -1460 29.0 43.0(438 424 3NV +1 8 -430 33.0 39.0(453 446 INO-1 2 50 31.0 41.0
451 446 6y V+1 v5 -1460 29.0 43.0439 423 3NV +1l &7 -430 33.0 39.0|533 527 INO-1 &A 50 31.0 41.0
455 442 6y V+1 46 -1460 29.0 43.0 (450 449 3NV +1 46 -430 33.0 39.0(538 522 INO-1 2 50 31.0 41.0
460 428 6y V+1 46 -1460 29.0 43.0 (525 535 3NO+1 9 -430 33.0 39.0(428 434 INO= &A -90 24.0 48.0
526 528 6y V+1 42 -1460 29.0 43.0 (546 555 3NO+1 &3 -430 33.0 39.0(438 424 INO= &A -90 24.0 48.0
543 552 6y O+1 &J -1460 29.0 43.0 (422 442 3N O +2 %4 -460 11.0 61.0|525 535 INO= &2 -90 24.0 48.0
549 546 6y V+1 &2 -1460 29.0 43.0|428 434 3NO+2 &4 -460 11.0 61.0|445 454 24 N-1 v3 -100 19.0 53.0
551 544 6v V+1 46 -1460 29.0 43.0|430 459 3NV +2 &4 -460 11.0 61.0 (455 444 2NS-1 &5 -100 19.0 53.0
554 539 6y V+1 #J -1460 29.0 43.0 (432 457 3NV +2 &7 -460 11.0 61.0(552 549 INO+2 6 -150 16.0 56.0
557 536 6y V+1 ¢4 -1460 29.0 43.0 (453 446 3N O +2 #4 -460 11.0 61.0|433 456 INDO= &A -180 13.0 59.0
559 534 6y V+1 v2 -1460 29.0 43.0 (455 444 3N O +2 #4 -460 11.0 61.0|532 528 IND O = A -180 13.0 59.0
560 527 6y V+1 &2 -1460 29.0 43.0 (521 539 3NO+2 #4 -460 11.0 61.0|431 458 3NS-2 %6 -200 9.0 63.0
436 424 Ty V= & -2210 4.0 68.0 (532 528 3NO+2 48 -460 11.0 61.0(432 457 3NS-2 438 -200 9.0 63.0
521 533 7v V= & -2210 4.0 68.0 551 550 3NO+2 45 -460 11.0 61.0(521 539 1ND O +1 #A -280 6.0 66.0
523 531 7v O= EN| -2210 4.0 68.0|556 545 3N O +2 #6 -460 11.0 61.0|558 543 2N S-3 #6 -300 4.0 68.0
530 524 7y V= a2 -2210 4.0 68.0 558 543 3N O +2 &5 -460 11.0 61.0(529 531 3NDS-2 &2 -500 2.0 70.0
550 545 7v V= +6 -2210 4.0 68.0|560 530 3NO+2 %8 -460 11.0 61.0|557 544 1NRD O = #A -560 0.0 72.0
553 - 37.0 - 559 47.0 - 559 47.0
19 4 E42 Basta kontrakt 20 « EK64 Basta kontrakt 21 4 E953 Basta kontrakt
Syd v Kn106 5& V =-600 Vast v EKn87 54 N =650 Nord v EK973 2v N =110
ov + DKn9 Alla + D10 NS + D96
&Kn642 & ¢ v & NT &E102 & ¢ v & NT &7 & ¢ v & NT
4 KD76 4105 N2 4554 & Kn8 a7 N 7 5 8 1110 & DKn 108642 N7 8 86 7
vE842 w97 S 24554 v 1065 v D942 S 75 8 1110 vD1064 ¢85 S78867
+108 ¢ EK53 O 118 8 8 9 4965432 ¢ EKn8 057322 ¢ KKn4 ¢ E87 O54565
&#K83 #ED975 V 118 8 8 9 &K5 #D9843 V57322 10954 #»ED2 V55566
& Kn983 4 D109532 & K7
v KD53 v K3 v Kn2
¢ 7642 ¢ K7 ¢ 10532
«10 #Kn76 #KKn863
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
539 558 3NV-2 vJ 200 72.0 0.0(553 546 44 S+2 &K 680 72.0 0.0(453 450 2¢DO-5 vJ 1100 72.0 0.0
438 426 3NV-1 vJ 100 69.0 3.0(421 445 44 N+1 &2 650 47.0 25.0 (559 546 24D O-4 vJ 800 70.0 20
559 538 3NV-1 vJ 100 69.0 3.0(422 444 464 N+1 ¢A 650 47.0 25.0|460 431 24D O -3 vJ 500 68.0 4.0
422 444 26V +1 ¢ Q -110 66.0 6.0|423 443 44 S+1 45 650 47.0 25.0|428 438 24D O -2 v9 300 66.0 6.0
531 527 26V +2 42 -130 63.0 9.0(427 437 44 N+1 %8 650 47.0 25.0(443 425 24 O-4 vJ 200 64.0 8.0
552 547 44V = s A -130 63.0 9.0|431 459 44 S+1 ¢5 650 47.0 25.0|554 551 2y N+2 8 170 62.0 10.0
551 548 2NV +1 &4 -150 60.0 12.0|432 458 44 S+1 +3 650 47.0 25.0|429 437 24 O-3 vJ 150 57.0 15.0
421 445 3NV = +Q -600 42.0 30.0 433 457 44 N+1 a2 650 47.0 25.0 (432 459 24 O-3 vJ 150 57.0 15.0
425 439 3NV = +Q -600 42.0 30.0|438 426 44 S+1 +5 650 47.0 25.0|455 448 24 O-3 vJ 150 57.0 15.0
429 435 3NV = vJ -600 42.0 30.0|442 424 44 S+1 2 650 47.0 25.0|528 536 24 O-3 vJ 150 57.0 15.0
433 457 3NV = +Q -600 42.0 30.0|446 455 4y S+1 2 650 47.0 25.0|430 436 INS+1 «Q 120 49.0 23.0
446 455 3N O = v3 -600 42.0 30.0|451 450 44 N+1 &4 650 47.0 25.0 (447 421 INS+1 «Q 120 49.0 23.0
451 450 3NV = vJ -600 42.0 30.0|452 449 44 N+1 &4 650 47.0 25.0|452 451 INS+1 %4 120 49.0 23.0
452 449 3NV = vlJ -600 42.0 30.0|453 448 54 S= v5 650 47.0 25.0|553 552 INS+1 &5 120 49.0 23.0
454 447 3N O = *4 -600 42.0 30.0 |454 447 44 N+1 &7 650 47.0 25.0|434 457 2v N= a2 110 41.0 31.0
522 536 3NV = &2 -600 42.0 30.0|524 534 44 S+1 +5 650 47.0 25.0 (439 427 2¢ N+1 42 110 41.0 31.0
524 534 3NV = +Q -600 42.0 30.0|525 533 44 S+1 v¥5 650 47.0 25.0|531 533 3¢ N= 46 110 41.0 31.0
525 533 3NO= 48 -600 42.0 30.0|528 530 44 S+1 +3 650 47.0 25.0 (558 547 2v N= a4 110 41.0 31.0
532 526 3NV = vJ -600 42.0 30.0|531 527 44 S+1 v6 650 47.0 25.0|422 446 1INV -2 v3 100 35.0 37.0
537 521 3NO= a3 -600 42.0 30.0|539 558 44 N+1 ¢A 650 47.0 25.0|433 458 24 O-2 8 100 35.0 37.0
550 549 3NV = +Q -600 42.0 30.0|545 554 44 S+1 46 650 47.0 25.0|435 456 INN= a4 90 29.0 43.0
553 546 3NV = a2 -600 42.0 30.0|551 548 44 N+1 &3 650 47.0 25.0|521 545 INS= 4Q 90 29.0 43.0
556 543 3NV = vlJ -600 42.0 30.0|552 547 54 N= v2 650 47.0 25.0|527 537 INS= &Q 90 29.0 43.0
560 529 3NV = +Q -600 42.0 30.0|555 544 44 N+1 &3 650 47.0 25.0|535 529 INS= &Q 90 29.0 43.0
423 443 3NO+1 &3 -630 15.0 57.0|559 538 44 S+1 ¢3 650 47.0 25.0|523 543 24 O-1 vJ 50 23.0 49.0
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428 436 BNO+1 48 -630 15.0 57.0(434 456 3NS+1 +¢6 630 22.0 50.0 (555 550 24 O-1 vJ 50 23.0 49.0
431 459 3NO+1 43 -630 15.0 57.0 (425 439 44 S= +6 620 11.0 61.0 (424 444 INS-1 «Q -100 12.0 60.0
432 458 3NV +1 vJ -630 15.0 57.0 (428 436 44 N= +3 620 11.0 61.0(426 442 INS-1 &5 -100 12.0 60.0
434 456 3NV +1 42 -630 15.0 57.0 (429 435 44 S= v5 620 11.0 61.0 (454 449 3¢ N-1 48 -100 12.0 60.0
442 424 3NV +1 +¢Q -630 15.0 57.0 (522 536 44 S= +3 620 11.0 61.0(525 539 2¢ N-1 7 -100 12.0 60.0
453 448 3NV +1 ¢Q -630 15.0 57.0 (523 535 44 S= +3 620 11.0 61.0(526 538 3¢ N-1 7 -100 12.0 60.0
523 535 3NV +1 vJ -630 15.0 57.0 (532 526 44 S= +5 620 11.0 61.0(544 522 3y N-1 43 -100 12.0 60.0
528 530 3NV +1 &4 -630 15.0 57.0 (537 521 44 S= +6 620 11.0 61.0(548 557 INN-1 44 -100 12.0 60.0
545 554 3NO+1 48 -630 15.0 57.0 550 549 44 S= +3 620 11.0 61.0(556 549 2vy N-1 4Q -100 12.0 60.0
460 430 3NV +2 42 -660 3.0 69.0 (556 543 44 S= +5 620 11.0 61.0(560 532 3¢ N-1 7 -100 12.0 60.0
555 544 3NO+2 43 -660 3.0 69.0 (560 529 44 S= +Q 620 11.0 61.0(534 530 2NN-3 42 -300 2.0 70.0
427 437 3NV +3 42 -690 0.0 72.0(460 430 64 S-2 ¢3 -200 0.0 72.0(423 445 44 S-4 &T -400 0.0 72.0
557 - 38.3 557 - 38.3 - 524 46.9
22 a2 Basta kontrakt 23 4 KD10753 Basta kontrakt 24 4 DKn Basta kontrakt
Ost vE762 34 O =-140 Syd vD4 34 S =140 Vast v 1072 INTV =-90
ov +10742 Alla ¢4 Ingen + D854
#KDKn6 & ¢ v & NT #E853 & ¢ v & NT #EKKN10 & ¢ v & NT
4 KKn107653 4 E84 N857 46 4« EKn 492 N55896 4E1063 4742 N756 66
v D95 v K104 S857 46 v Kn109 vE53 S55896 vD v EKn854 S75666
¢+K ¢ DKn953 048596 ¢ D109832 ¢ K6 078425 ¢ EKn97 ¢ K102 06 7776
#83 «107 V4859€6 #109 #KDKn642 V 7 8 4 2 5 D954 #63 ve67777
«D9 » 864 & K985
v Kn83 v K8762 v K963
+ E86 ¢ EKn75 463
#E9542 *7 *872
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
432 459 44DV -1 #K 200 700 2.0(534 528 34DN= +¢K 730 720 0.0(525 537 2#DS= vQ 180 71.0 1.0
534 530 44DV -1 &K 200 70.0 2.0(434 458 44 N+1 #A 650 70.0 2.0(530 532 INDN= ¥3 180 71.0 1.0
544 522 44DV -1 &K 200 70.0 2.0|423 447 44 N= +K 620 65.0 7.0(534 528 INO-3 &3 150 67.0 5.0
443 425 44 S = 46 130 66.0 6.0(424 446 44 N= *K 620 65.0 7.0(559 544 INO-3 &8 150 67.0 5.0
422 446 INS+1 4 120 64.0 8.0(453 452 44 N= *K 620 65.0 7.0(444 426 2NV -2 #A 100 61.0 11.0
435 456 3# S= s 110 62.0 10.0 (539 523 44 N = *K 620 65.0 7.0(524 538 2v V-2 #A 100 61.0 11.0
452 451 34 S-1 ¥5 -50 56.0 16.0 (454 451 5&# O-4 44 400 60.0 12.0|555 548 2NQO-2 +v3 100 61.0 11.0
454 449 44 S-1 4K -50 56.0 16.0 (425 445 3NV -3 &K 300 57.0 15.0(557 546 2NO-2 +6 100 61.0 11.0
460 431 44 S-1 46 -50 56.0 16.0 (442 428 5¢ V-3 &K 300 57.0 15.0 (421 449 2¢ V-1 #A 50 43.0 29.0
531 533 44 N-1 4A -50 56.0 16.0 (427 443 34 O-2 44 200 53.0 19.0 (424 446 2¢ V-1 4Q 50 43.0 29.0
554 551 44 N-1 4A -50 56.0 16.0 (526 536 24 N+3 &K 200 53.0 19.0 (425 445 2¢ V-1 #A 50 43.0 29.0
428 438 4y S-2 v5 -100 44.0 28.0|444 426 34 N+1 &K 170  49.0 23.0 (427 443 29y O-1 +6 50 43.0 29.0
433 458 34 S-2 ¢K -100 44.0 28.0 (560 531 24 N+2 #Q 170  49.0 23.0 (430 438 2¢ V-1 &A 50 43.0 29.0
434 457 3NS-2 v5 -100 44.0 28.0 (429 439 34 N= *K 140 35.0 37.0(433 459 2¢ V-1 &A 50 43.0 29.0
455 448 3NS-2 v5 -100 44.0 28.0 (431 437 34 N= *K 140 35.0 37.0 (434 458 2¢ V-1 #A 50 43.0 29.0
527 537 5# N-2 &A -100 44.0 28.0 (433 459 34 N= *K 140 35.0 37.0 (436 456 2¢ V-1 &A 50 43.0 29.0
558 547 3v N-2 4A -100 44.0 28.0 (436 456 34 N= *K 140 35.0 37.0 (454 451 2¢ V-1 &A 50 43.0 29.0
560 532 44 S-2 46 -100 44.0 28.0 (525 537 34 N= *K 140 35.0 37.0 (455 450 2¢ V-1 #A 50 43.0 29.0
423 445 34 V= *K -140 24.0 48.0|527 535 34 N= *K 140 35.0 37.0(526 536 INV-1 &A 50 43.0 29.0
424 444 24 V+1 &K -140 24.0 48.0 (533 529 34 N= +K 140 35.0 37.0(527 535 INO-1 +¢6 50 43.0 29.0
426 442 34 V= *K -140 24.0 48.0 |547 556 34 N= *K 140 35.0 37.0(539 523 INO-1 8 50 43.0 29.0
429 437 34 V= *K -140 24.0 48.0 (554 549 24 N+1 &K 140 35.0 37.0(560 531 24 O-1 +¢6 50 43.0 29.0
430 436 34 V= *K -140 24.0 48.0 (555 548 24 N+1 +¢K 140 35.0 37.0(435 457 2v S-1 &5 -50 27.0 45.0
453 450 24 V+1 &K -140 24.0 48.0 |557 546 34 N= *Q 140 35.0 37.0(554 549 INN-1 v4 -50 27.0 45.0
521 545 34 V= *K -140 24.0 48.0|558 545 34 N= *K 140 35.0 37.0 (453 452 1a V= *A -80 23.0 49.0
523 543 34 V= *K -140 24.0 48.0 (552 551 4¢ O-1 &7 100 22.0 50.0 (547 556 1a V= *A -80 23.0 49.0
528 536 34 V= *K -140 24.0 48.0 (430 438 44 N-1 #K -100 16.0 56.0 (423 447 2¢ V= *A -90 15.0 57.0
548 557 34 O= ¢ A -140 24.0 48.0 (460 432 44 N-1 +¢K -100 16.0 56.0 (429 439 INO= a5 -90 15.0 57.0
555 550 24 O+1 ¢3 -140 24.0 48.0(524 538 44 N-1 &K -100 16.0 56.0 (431 437 INV= ¢4 -90 15.0 57.0
556 549 24 V+1 &K -140 24.0 48.0(530 532 44 N-1 #K -100 16.0 56.0 (442 428 INO= *2 -90 15.0 57.0
559 546 34 V= *K -140 24.0 48.0(543 521 44 N-1 +¢K -100 16.0 56.0 (448 422 2¢ V= v2 -90 15.0 57.0
439 427 54 S-3 43 -150 9.0 63.0 (455 450 3# O = LY, -110 10.0 62.0 (533 529 1INV = +Q -90 15.0 57.0
526 538 3NS-3 43 -150 9.0 63.0 (421 449 3v S-2 &T -200 5.0 67.0(552 551 INS-2 3 -100 8.0 64.0
525 539 44 V= *K -620 5.0 67.0 (435 457 44 S-2 &K -200 5.0 67.0(558 545 2v O = +6 -110 6.0 66.0
535 529 44 O= *K -620 5.0 67.0 (553 550 44DN-1 ¢K -200 5.0 67.0(460 432 INO+1 +6 -120 3.0 69.0
447 421 34DV +1 45 -930 1.0 71.0(559 544 44DN-1 vA -200 5.0 67.0(553 550 INO+1 %8 -120 3.0 69.0
553 552 34DV +1 &K -930 1.0 71.0(448 422 34D O = 44 -670 0.0 72.0(543 521 3&#N-3 2 -150 0.0 72.0
- 524 46.9 522 - 29.4 522 - 29.4
25 4 K9 Basta kontrakt 26 475 Basta kontrakt 27 4 EKD10 Basta kontrakt
Nord vKn10752 2y N =110 Ost v Kn8742 54 O =-650 Syd v EK10 7NT S =1520
ov + EKn84 Alla + 8542 Ingen +E2
#8383 & ¢ v & NT »D3 & ¢ v & NT #K753 & ¢ v & NT
4D8432 410 N68877 4 E10 4KKn96432 N O 5500 453 498764 N 1311121213
vD8 v K964 S68877 v 103 v 65 S05500 v 865 vDKn3 S 1311121213
+ K9 ¢ 6532 075555 ¢ KKn93 +E O 118 7 118 ¢+ D8543 ¢ 107 002110
#ED62 #K754 V755675 #EK876 #Kn92 vV 118 7 118 #1098 D64 V02110
& EKn765 «D8 & Kn2
vE3 v EKD9 v 9742
+ D107 + D1076 + KKn96
#Kn109 #1054 #EKn2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
529 539 24DV -2 &8 500 720 0.0(533 535 54 O-1 YA 100 720 0.0(435 459 6NN+1 T 1020 71.0 1.0
422 450 24 V-2 v 200 68.0 4.0(432 438 34 O+1 ©vA -170 70.0 2.0(545 523 6NN+1 T 1020 710 10
436 457 24 V-2 &8 200 68.0 4.0(428 444 34 O+2 ©vA -200 67.0 5.0(422 452 6N S = »T 990 48.0 24.0
455 452 24 V-2 &8 200 68.0 4.0(443 429 34 O+2 ©vA -200 67.0 5.0(425 449 6NN = 49 990 48.0 24.0
430 442 INN+3 v6 180 62.0 10.0 (422 450 44 V= +4 -620 58.0 14.0 (426 448 6N S = +3 990 48.0 240
525 545 INN+3 v6 180 62.0 10.0 (425 447 44 O= vA -620 58.0 14.0 (429 445 6NN = 49 990 48.0 24.0
536 532 INN+3 49 180 62.0 10.0 (426 446 44 O= vA -620 58.0 14.0 (431 443 6NN = 46 990 48.0 240
434 459 INN+2 v4 150 56.0 16.0 (434 459 44 O= vA -620 58.0 14.0 (433 439 6NN = a2 990 48.0 240
533 535 INN+2 v6 150 56.0 16.0 (449 423 44 O= vK -620 58.0 14.0 (446 428 6NN = a2 990 48.0 24.0
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544 526 INN+2 v4 150 56.0 16.0 (455 452 44 O = vA -620 58.0 14.0 (450 424 6N S = &T 990 48.0 24.0
521 549 2y N+1 4T 140 52.0 20.0 (544 526 44 O= vA -620 58.0 14.0 (455 454 6N N= 48 990 48.0 24.0
421 451 INN+1 2 120 41.0 31.0 (421 451 44 O+1 YA -650 27.0 45.0 (521 547 6N N= 46 990 48.0 24.0
426 446 INN+1 v6 120 41.0 31.0 (424 448 44 O+1 ©vA -650 27.0 45.0 (522 546 6N N= 48 990 48.0 24.0
435 458 INN+1 T 120 41.0 31.0 (430 442 44 O+1 vA -650 27.0 45.0 (524 544 6N N= a4 990 48.0 24.0
445 427 INN+1 oT 120 41.0 31.0(435 458 44 O+1 vQ -650 27.0 45.0 (527 539 6NN = 49 990 48.0 24.0
449 423 INN+1 2 120 41.0 31.0 (436 457 44 O+1 YA -650 27.0 45.0 (529 537 6N N= 49 990 48.0 24.0
454 453 INN+1 v4 120 41.0 31.0 (437 456 44 O+1 vA -650 27.0 45.0 (543 525 6N N= a7 990 48.0 24.0
522 548 INN+1 &T 120 41.0 31.0 (445 427 44 V+1 92 -650 27.0 45.0 (549 558 6N N = a4 990 48.0 24.0
530 538 INN+1 &T 120 41.0 31.0 ({454 453 44 O+1 ©vA -650 27.0 45.0 (554 553 6N N= a7 990 48.0 24.0
550 559 INN+1 49 120 41.0 31.0 (460 433 44 O+1 YA -650 27.0 45.0 (556 551 6N S = &T 990 48.0 24.0
568 551 2N S = vQ 120 41.0 31.0(522 548 44 O+1 vA -650 27.0 45.0 (557 550 6N N = a4 990 48.0 24.0
428 444 2y N= 3 110 30.0 42.0 (523 547 44 V+1 v4 -650 27.0 45.0 (559 548 6N N= 49 990 48.0 24.0
432 438 24 V-1 v2 100 27.0 45.0 (525 545 44 O+1 YA -650 27.0 45.0 (560 533 6N S = *8 990 48.0 24.0
546 524 34 V-1 ¥T 100 27.0 45.0 (527 543 44 O+1 YA -650 27.0 45.0 (421 453 3NN+3 ¢2 490 18.0 54.0
424 448 INN-= v6 90 17.0 55.0 (529 539 44 O+1 YA -650 27.0 45.0 (423 451 3NN+3 46 490 18.0 54.0
437 456 INN= v2 90 17.0 55.0|530 538 44 O+1 YA -650 27.0 45.0 (432 442 3NN+3 49 490 18.0 54.0
460 433 INN= aT 90 17.0 55.0 (536 532 44 O+1 YA -650 27.0 45.0 (436 458 3NN +3 %6 490 18.0 54.0
523 547 INN-= v4 90 17.0 55.0 (537 531 44 O+1 YA -650 27.0 45.0 (438 456 3NN+3 49 490 18.0 54.0
527 543 INN= +3 90 17.0 55.0|546 524 44 O+1 v¥K -650 27.0 45.0 (460 434 3NN+3 ¢Q 490 18.0 54.0
5565 554 INN= v3 90 17.0 55.0|550 559 44 O+1 YA -650 27.0 45.0(532 534 3NN+3 #4 490 18.0 54.0
556 553 INN= v3 90 17.0 55.0 (555 554 44 O+1 YA -650 27.0 45.0 (535 531 3NN+3 43 490 18.0 54.0
557 552 INN-= +3 90 17.0 55.0|556 553 44 O+1 YA -650 27.0 45.0(536 530 3NN+3 &7 490 18.0 54.0
425 447 4y N-1 &7 -50 4.0 68.0|557 552 44 O+1 ¢vK -650 27.0 45.0 (528 538 3NN+2 438 460 8.0 64.0
431 439 INN-1 6 -50 4.0 68.0|558 551 44 O+1 ©vA -650 27.0 45.0 (427 447 64 N-1 o T -50 6.0 66.0
443 429 INN-1 ¥5 -50 4.0 68.0 (560 534 44 O+1 YA -650 27.0 45.0 (437 457 6NN-2 46 -100 2.0 70.0
537 531 2y N-1 T -50 4.0 68.0 (521 549 44 O+2 YA -680 2.0 70.0 (444 430 6NS-2 v5 -100 2.0 70.0
560 534 2y N-1 T -50 4.0 68.0431 439 4vyDN-5 ¢A -1400 0.0 72.0 555 552 7NN-2 3 -100 2.0 70.0
528 - 30.3 528 - 30.3 526 - 40.0
426 446 Pen/Pen 0.0 -36.0
28 a4 Basta kontrakt 29 4« Kn10 Basta kontrakt 30 « KDKn75 Basta kontrakt
Vast v EK653 44 V D -2 300 Nord v 1083 24 N =110 Ost vE9 3NT O =-400
NS + ED632 Alla ¢ E72 Ingen + 107
*74 & ¢ v & NT #KKn1093 & ¢ v & NT #E952 & ¢ v & NT
« EKD105 49832 N 7 8 105 7 443 49652 N85587 « E93 410864 N56 454
vD1082 v9 S 7 8 105 7 vEKD9  vKn52 S85587 vKKn765 vD4 S 66 454
+ K9 ¢ Kn754 054376 ¢+ Kn8643 ¢ K95 048745 ¢ KKn5 ¢ E93 076879
#Kn8 #K1096 V55386 «D7 »E84 V58745 &K3 #Kn1084 V7618729
4 Kn76 « EKD87 a2
vKn74 v 764 v 10832
+ 108 + D10 + D8642
#ED532 #652 «D76
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
535 531 54DV -4 vK 800 72.0 0.0|437 458 24DS= YA 670 72.0 0.0|530 544 34 V-2 &K 100 720 0.0
524 544 4v S = s A 620 69.9 2.1(432 444 INN+4 #A 210 70.0 201|432 444 2NO-1 42 50 67.0 5.0
529 537 44DV -3 vA 500 67.9 4.1(422 454 INO-2 &A 200 65.0 7.0(529 545 3v V-1 &K 50 67.0 5.0
455 454 44DV -2 vA 300 65.8 6.2]434 442 3v O-2 &A 200 65.0 7.0|531 543 3v V-1 4Q 50 67.0 5.0
432 442 3v S+1 &A 170  61.7 10.3 (447 429 3vDV-1 &J 200 65.0 7.0(552 522 3v V-1 4K 50 67.0 5.0
437 457 2v N+2 3 170  61.7 10.3 (451 425 3v V-2 & 200 65.0 7.0|560 536 14 N-1 vQ -50 62.0 10.0
549 558 3v N+1 49 170 61.7 10.3 (523 551 INN+3 %4 180 59.0 13.0 (426 450 INS-2 v6 -100 54.0 18.0
438 456 44 V-3 YA 150 524 19.6 (559 554 INDN= ¢J 180 59.0 13.0 (428 448 24 N-2 vQ -100 54.0 18.0
528 538 44 O-3 ©vA 150 52.4 19.6 (436 459 INN+1 5 120 55.0 17.0 (433 443 24 N-2 vQ -100 54.0 18.0
543 525 54 V-3 YA 150 52.4 19.6 (445 431 INN+1 5 120 55.0 17.0 (434 442 24 N-2 vQ -100 54.0 18.0
545 523 44 V-3 vA 150 52.4 19.6 (421 455 24 S= vA 110 46.0 26.0 (447 429 24 N-2 & -100 54.0 18.0
556 551 44 V-3 vA 150 52.4 19.6 (428 448 24 S= vA 110 46.0 26.0 (548 526 24 N-2 vQ -100 54.0 18.0
559 548 44 V-3 YA 150 52.4 19.6 (439 456 24 S= vA 110 46.0 26.0 (559 554 2&4DN-1 vQ -100 54.0 18.0
423 451 2v N+1 9 140 453 26.8 (460 435 14 N+1 vQ 110 46.0 26.0 (546 528 2v V= 40 -110 45.0 27.0
421 453 34 V-2 YA 100 37.0 35.0(524 550 24 S= vA 110 46.0 26.0 (557 556 2v V= &K -110 45.0 27.0
422 452 44 V-2 YA 100 37.0 35.0 (527 547 24 S= ¢+ 4 110 46.0 26.0 (424 452 INO+1 +4 -120 38.0 34.0
435 459 44 V-2 vA 100 37.0 35.0 557 556 24 S= vA 110 46.0 26.0 (451 425 INV+1 &K -120 38.0 34.0
436 458 44 V-2 YA 100 37.0 35.0(530 544 3¢ V-1 &J 100 37.0 35.0(521 553 INO+1 &2 -120 38.0 34.0
450 424 34 V-2 YA 100 37.0 35.0(560 536 3¢ V-1 &J 100 37.0 35.0(523 551 INV+1 &K -120 38.0 34.0
527 539 44 V-2 vA 100 37.0 35.0(535 537 INS= vA 90 33.0 39.0|539 533 2N O = 2 -120 38.0 34.0
560 533 34 V-2 vA 100 37.0 35.0(552 522 INN-= vJ] 90 33.0 39.0|430 446 3v O = s K -140 30.0 42.0
431 443 44 V-1 vA 50 247 47.3|438 457 2¢ V= 4] -90 27.0 45.0439 456 2y V+1 4K -140 30.0 42.0
433 439 34 V-1 vA 50 24.7 47.3|521 553 2¢ V= s -90 27.0 45.0 (527 547 2y V+1 T -140 30.0 42.0
444 430 34 V-1 YA 50 247 47.3|525 549 2¢ V= s -90 27.0 45.0 (421 455 24 N-3 2 -150 16.0 56.0
522 546 34 V-1 YA 50 247 47.3|529 545 2¢ V= ] -90 27.0 45.0 (422 454 3#S-3 v5 -150 16.0 56.0
555 552 34 V-1 YA 50 24.7 47.3]|423 453 2NS-1 YA -100 17.0 55.0 (436 459 24 N-3 #J -150 16.0 56.0
446 428 5v N-1 49 -100 17.5 545|433 443 24 S-1 YA -100 17.0 55.0 (437 458 24 N-3 vQ -150 16.0 56.0
532 534 4v S-1 4A -100 17.5 54.5(538 534 INN-1 ¢5 -100 17.0 55.0 (438 457 24 N-3 vQ -150 16.0 56.0
426 448 34 V= vA -140 13.4 58.6 546 528 24 S-1 vA -100 17.0 55.0 (445 431 INV+2 &K -150 16.0 56.0
554 553 3e V= vA -140 13.4 58.6|548 526 INS-1 ¢K -100 17.0 55.0 (460 435 24 N-3 &J -150 16.0 56.0
425 449 5y N-2 49 -200 8.3 63.8|558 555 34 S-1 YA -100 17.0 55.0 (524 550 24 N-3 vQ -150 16.0 56.0
429 445 5vDS-1 &A -200 8.3 63.8 (424 452 3¢ V= s -110 7.0 65.0(525 549 3#N-3 vQ -150 16.0 56.0
521 547 4v N-2 42 -200 8.3 63.8 (426 450 3¢ V= s -110 7.0 65.0(535 537 24 N-3 v2 -150 16.0 56.0
460 434 5vDS-2 &A -500 2.1 69.9 (427 449 2¢ V+1 & -110 7.0 65.0 (558 555 24 N-3 vQ -150 16.0 56.0
536 530 4vyDS-2 #4A -500 2.1 69.9 (430 446 2¢ V+1 4] -110 7.0 65.0(538 534 3#S-4 v5 -200 4.0 68.0
557 550 5¢DN-2 3 -500 2.1 69.9|539 533 2#S-3 YA -300 2.0 70.0 (427 449 24DN-2 vQ -300 2.0 70.0
526 - 40.0 531 543 3¢DV= & -670 0.0 72.0 (423 453 44DN-3 vQ -500 0.0 72.0
427 447 A-/A+ 28.8 43.2 (532 - 34.9 532 - 34.9
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31 » EK6 Basta kontrakt 32 4 865 Basta kontrakt 33 oK Basta kontrakt
Syd v ED102 3v N =140 Vast v EKn62 54 N =450 Nord vED976 64 O D -4 800
NS + E876 oV + EKKn93 Ingen + KDKn3
»K8 & ¢ v & NT »2 & ¢ v & NT #EDI10 & ¢ v & NT
4 D108742 &4 Kn5 N 6 109 7 8 41093 & KKn4 N 7 119 119 4« D109763 4 EKn852 N 1212125 7
v 9543 v 87 S6 9877 vK754 D103 S 7 118 119 v32 v 85 S 1212125 7
+10 + KD3 07 34665 4742  +65 06 2423 ¢ 10754 + 86 000080
&Kn4 #ED10752 V 7 3 4 6 5 D109 #KKn876 V62423 &7 #6542 VO0OO0OOS8DO
93 4 ED72 a4
v KKn6 v98 v KKn104
4 Kn9542 + D108 ¢ E92
#963 #E543 #KKn983
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
429 449 3NN+1 & 630 72.0 0.0(428 450 3NN+2 *T 460 71.0 1.0]|425 455 6NS+1 &7 1020 700 20
442 456 3NN = v8 600 69.0 3.0(559 552 3NS+2 #Q 460 71.0 1.0(429 451 6NN+1 5 1020 700 2.0
526 546 3NN = v3 600 69.0 3.0(427 451 44 S+1 #Q 450 64.0 8.0|532 546 6NS+1 7 1020 70.0 20
434 444 44D O -3 #2 500 65.0 7.0(434 444 44 N+1 ¢3 450 64.0 8.0(424 421 6vy N+1 &4 1010 59.0 13.0
522 550 34DV -3 4A 500 65.0 7.0(439 457 44 S+1 4T 450 64.0 8.0(435 445 6v N+1 8 1010 59.0 13.0
446 432 34D Q-2 42 300 61.0 11.0(446 432 44 S+1 ¢2 450 64.0 8.0]|438 459 6v S+1 &7 1010 59.0 13.0
528 544 44D O -2 49 300 61.0 11.0(524 548 44 S+1 &9 450 64.0 8.0(449 431 6v S+1 &9 1010 59.0 13.0
431 447 4¢ S= LN 130 58.0 14.0 (448 430 3NN+1 &6 430 55.0 17.0 (460 437 6v N+1 8 1010 59.0 13.0
438 458 2NN = &T 120 56.0 16.0 (452 426 3NN+1 46 430 55.0 17.0(523 555 6v N+1 ¢5 1010 59.0 13.0
423 455 3¢ N= ] 110 51.0 21.0(531 539 3NN+1 46 430 55.0 17.0 (537 539 6v S+1 &7 1010 59.0 13.0
531 539 3¢ S= +3 110 51.0 21.0(551 521 3NS+1 ¢5 430 55.0 17.0(548 530 6v N+1 &4 1010 59.0 13.0
538 532 2¢ S+1 #J 110 51.0 21.0(429 449 44 S= va 420  46.0 26.0|423 422 6y N= s A 980 32.0 40.0
558 553 3¢ S= *] 110 51.0 21.0(433 445 44 S= oT 420  46.0 26.0|426 454 6v N= s A 980 32.0 40.0
424 454 384 0O-2 49 100 44.0 28.0 (437 459 44 S= 2 420  46.0 26.0|428 452 6vy N= s A 980 32.0 40.0
452 426 34DV -1 #4A 100 44.0 28.0 (442 456 44 S= &T 420  46.0 26.0 (430 450 6v N= s A 980 32.0 40.0
460 436 34D O-1 49 100 44.0 28.0 (529 543 44 S= a5 420  46.0 26.0|432 448 6y N= s A 980 32.0 40.0
537 533 24 V-1 4A 50 40.0 32.0|422 421 3NS= *9 400 30.0 42.0 (436 444 6v N= s A 980 32.0 40.0
425 453 3NN-1 &5 -100 29.0 43.0 (424 454 3NN= *6 400 30.0 42.0|439 458 6¥ N = s A 980 32.0 40.0
433 445 3NN-1 %6 -100 29.0 43.0 (431 447 3NN= *6 400 30.0 42.0 (442 457 6v N= s A 980 32.0 40.0
437 459 3NS-1 8 -100 29.0 43.0 (435 443 3NS= v4 400 30.0 42.0 (443 456 6v N = s A 980 32.0 40.0
439 457 3NN-1 & -100 29.0 43.0|526 546 5¢ N = +5 400 30.0 42.0 (447 433 6v N= s A 980 32.0 40.0
524 548 3NS-1 a2 -100 29.0 43.0 (528 544 3N S= v5 400 30.0 42.0 (521 557 6v N= s A 980 32.0 40.0
534 536 SNN-1 #A -100 29.0 43.0 (537 533 3NS-= v3 400 30.0 42.0(522 556 6v N = s A 980 32.0 40.0
545 527 3NN-1 &7 -100 29.0 43.0(538 532 3NS= v5 400 30.0 42.0|525 553 6¥ N = s A 980 32.0 40.0
556 555 3NN-1 45 -100 29.0 43.0 |545 527 5¢ N= *6 400 30.0 42.0(526 552 6v N = s A 980 32.0 40.0
557 554 3NN-1 #A -100 29.0 43.0 (556 555 3N S = *9 400 30.0 42.0(529 549 6v N= s A 980 32.0 40.0
560 535 4v N-1 +v8 -100 29.0 43.0 (558 553 3NS= *9 400 30.0 42.0|531 547 6¥ N= s A 980 32.0 40.0
427 451 3NN-2 #A -200 14.0 58.0 (522 550 2NS+1 ¥5 150 16.0 56.0 533 545 6¥ N= s A 980 32.0 40.0
428 450 3NN-2 43 -200 14.0 58.0 (523 549 3¢ N+2 ¢5 150 16.0 56.0 550 528 6¥ N = s A 980 32.0 40.0
448 430 3NN-2 &5 -200 14.0 58.0 534 536 2NN +1 %6 150 16.0 56.0 (560 538 6¥ N= s A 980 32.0 40.0
529 543 3NN-2 & -200 14.0 58.0 (423 455 2¢ N+2 +6 130 10.0 62.0 (554 524 6% N = s A 920 12.0 60.0
547 525 4v S-2 4] -200 14.0 58.0 (438 458 3¢ N+1 +¢6 130 10.0 62.0 (434 446 64D O-4 v9 800 8.0 64.0
422 421 3NN-3 &5 -300 4.0 68.0(460 436 3¢ N+1 ¢6 130 10.0 62.0 (453 427 64DV -4 ¢K 800 8.0 64.0
435 443 3NN-3 &7 -300 4.0 68.0 (547 525 3NS-1 &9 -50 4.0 68.0(534 544 64D O-4 ¥T 800 8.0 64.0
523 549 3NN-3 &5 -300 4.0 68.0 (557 554 3NS-1 #Q -50 4.0 68.0(527 551 4y N+3 8 510 4.0 68.0
551 521 3NN-3 &A -300 4.0 68.0|560 535 5¢ N-1 46 -50 4.0 68.0(543 535 24 S-3 &7 -150 2.0 70.0
559 552 3NN-3 &T -300 4.0 68.0 (425 453 44 S-2 &7 -100 0.0 72.0|559 558 6NN-5 &A -250 0.0 72.0
530 - 36.1 530 - 36.1 - 536 29.8
34 4 Kn10972 Basta kontrakt 35 «ED8 Basta kontrakt 36 aD Basta kontrakt
Ost v2 4v O =-420 Syd v DKn8 3NT N =400 Vast v EK3 5NT N =660
NS ¢+ D942 (6)) + Kn96 Alla + EKD76
#865 & ¢ v & NT #DKn72 & ¢ v & NT #E632 & ¢ v & NT
4KD3 454 N3 7373 4 Kn752 4103 N7 8999 4 E1076 #9543 N 1111111011
vK97 <vEKn1063 S 3 7 3 7 3 vE107 v654 S789 98 vKn982 vo64 S 1111111011
¢ K653 ¢7 O 8 5 106 8 ¢ K743 ¢ E85 06 4 44 4 +83 ¢ Kn542 022232
#Kn93 «#KD1074 vV 8 5 106 8 #105 #K9863 V 6 4444 D105 #Kn94 V22232
~ E86 & K964 & KKn82
v D854 v K932 vD1075
+ EKn108 + D102 + 109
*E2 *E4 *K87
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
529 549 24D S= +¢5 670 72.0 0.0(429 453 3NN+2 &T 460 72.0 0.0(524 552 6N N= a4 1440 720 0.0
436 444 5vD O -2 4A 300 69.0 3.0(437 445 3NS+1 45 430 68.0 4.0(424 423 3NS+3 ¢2 690 68.0 4.0
443 456 4vyD O -2 4A 300 69.0 3.0(526 550 3NS+1 45 430 68.0 4.0(431 451 3NS+3 ¢2 690 68.0 4.0
527 551 2¢DS= v7 180 66.0 6.0(536 538 3NN+1 &T 430 68.0 4.0(559 556 3NN+3 ¢4 690 68.0 4.0
434 446 3ND O -1 ¢4 100 63.0 9.0(533 543 4v S= *5 420 64.0 8.0(425 422 3NS+2 &7 660 50.0 22.0
438 459 3NO-2 +A 100 63.0 9.0(424 423 3NS= +3 400  46.0 26.0|427 455 3NS+2 v8 660 50.0 22.0
423 422 3v O-1 +A 50 55.0 17.0 (425 422 3NN= 46 400 46.0 26.0|429 453 3NN+2 +4 660 50.0 22.0
449 431 4y O-1 4A 50 55.0 17.0 (431 451 3NN= *6 400 46.0 26.0|435 447 3NS+2 46 660 50.0 22.0
522 556 4v O-1 &A 50 55.0 17.0 (433 449 3NN= 3 400 46.0 26.0|436 446 ANS+1 +¢6 660 50.0 22.0
525 553 4y O-1 #A 50 55.0 17.0 (435 447 3NN= 3 400 46.0 26.0|437 445 3NS+2 &7 660 50.0 22.0
533 545 3NV-1 ¢4 50 55.0 17.0 (443 457 3NN= 3 400 46.0 26.0|439 459 3NS+2 +8 660 50.0 22.0
559 558 4v O-1 v4 50 55.0 17.0 (448 434 3NS= a7 400 46.0 26.0|443 457 3NS+2 +8 660 50.0 22.0
435 445 24 N-1  ¢7 -100 47.0 25.0 (450 432 3NS= +6 400 46.0 26.0|448 434 3NS+2 46 660 50.0 22.0
560 538 34 N-1 &K -100 47.0 25.0 (460 438 3N N= *6 400 46.0 26.0|460 438 ANS+1 3 660 50.0 22.0
429 451 3v O = *A -140 41.0 31.0(524 552 3NN= +5 400 46.0 26.0|521 555 3NS+2 46 660 50.0 22.0
430 450 3v O= s A -140 41.0 31.0(528 548 3N N= 3 400 46.0 26.0|530 546 3NN+2 43 660 50.0 22.0
526 552 2v O+1 #A -140 41.0 31.0(530 546 3NN= 3 400 46.0 26.0|532 544 3NS+2 v9 660 50.0 22.0
543 535 3v O = *A -140 41.0 31.0(539 535 3NS= 5 400 46.0 26.0|539 535 3NN+2 #4 660 50.0 22.0
521 557 3v O+1 &A -170 35.0 37.0 (549 527 3NS= +3 400 46.0 26.0|547 529 3NS+2 2 660 50.0 22.0
532 546 3v O+1 A -170 35.0 37.0 (558 557 3N S= a2 400 46.0 26.0|522 554 4v S+1 +¢6 650 32.0 40.0
425 455 34DS-1 ¢¥3 -200 29.0 43.0 (559 556 3N N= *4 400 46.0 26.0|526 550 5v S= s A 650 32.0 40.0
531 547 34 S-2 vA -200 29.0 43.0 (560 537 3N N= *6 400 46.0 26.0|558 557 4y S+1 +¢8 650 32.0 40.0
534 544 24DS-1 v7 -200 29.0 43.0 (426 421 INN+3 &3 180 28.0 44.0(426 421 3NS+1 &7 630 27.0 45.0
537 539 24DN-1 ¢2 -200 29.0 43.0 (427 455 2NS+1 v4 150 26.0 46.0 (442 458 3NS+1 ¢8 630 27.0 45.0
554 524 44 S-4 w7 -400 24.0 48.0 (531 545 2v N+1 &5 140 24.0 48.0 (533 543 3NN= *3 600 24.0 48.0
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432 448 4v V= SA -420 20.0 52.0(436 446 3NN-1 43 -50 15.0 57.0 (454 428 3&# N+2 44 150 22.0 50.0
439 458 4v O = oA -420 20.0 52.0(439 459 3NN-1 v4 -50 15.0 57.0 (430 452 5v S-1 4A -100 14.0 58.0
548 530 4v O = s A -420 20.0 52.0 (444 456 3NN-1 &T -50 15.0 57.0 (433 449 6NN-1 v5 -100 14.0 58.0
442 457 4y O+1 &A -450 16.0 56.0 (454 428 3NN-1 v5 -50 15.0 57.0 (444 456 5v S-1 &5 -100 14.0 58.0
424 421 3NV +2 4] -460 14.0 58.0(521 555 3NN-1 %6 -50 15.0 57.0 (531 545 64 N-1 v6 -100 14.0 58.0
523 555 34DN-2 &K -500 12.0 60.0(532 544 3NS-1 +4 -50 15.0 57.0 (549 527 64# N-1 &4 -100 14.0 58.0
428 452 4vyD O = #A -590 8.0 64.0(547 529 3NN-1 43 -50 15.0 57.0 (553 523 6NS-1 4A -100 14.0 58.0
447 433 4vyDO= &A -500 8.0 64.0(553 523 3NN-1 &5 -50 15.0 57.0 (560 537 6NS-1 2 -100 14.0 58.0
453 427 4vyDO = &A -590 8.0 64.0(430 452 3NS-2 a5 -100 3.0 69.0 (450 432 6v S-2 ¢5 -200 3.0 69.0
550 528 5vDO= 4A -650 4.0 68.0(442 458 3NS-2 45 -100 3.0 69.0(525 551 6NS-2 a7 -200 3.0 69.0
460 437 4vyDV +1 4] -690 2.0 70.0(522 554 3NS-2 T -100 3.0 69.0(528 548 6v S-2 8 -200 3.0 69.0
426 454 34DN-3 7 -800 0.0 72.0(525 551 3NS-2 a5 -100 3.0 69.0(536 538 6NN-2 v6 -200 3.0 69.0
- 536 29.8 - 534 38.8 - 534 38.8
37 4873 Basta kontrakt 38 4 KD63 Basta kontrakt 39 464 Basta kontrakt
Nord v KKn83 2NT N =120 Ost v EKn9 2NTSD-1-100 |Syd v EKD5 34 V =-140
NS + K8 oV ¢ Kn8 Alla + K8
«D864 & ¢ v & NT #8632 & ¢ v & NT #KDKn62 & ¢ v & NT
4 Kn6 4 K1052 N7 87 88 4 EKnl10 498752 N6 8547 4 EDKn5 410732 N9 47 34
vD7654 vE10 S78788 vKD10876 v¥5 S6 8547 v10842 vKn7 S947 44
+43 ¢+ D1076 06 5655 76 4932 06 4885 ¢ E107  + D9654 049595
#EKKn3 #1095 V65655 #E10 +«KD94 V64885 *E5 *97 V495975
«ED94 a4 » K98
v 92 v 432 v 963
¢ EKn952 + EKD1054 + Kn32
*72 #Kn75 10843
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
428 421 2vyDV-3 ¢K 500 720 0.0(529 553 3NN+1 &K 430 72.0 0.0|460 442 INDV-3 &K 800 720 00
544 538 INDN+1 #T 380 70.0 2.0(426 423 3NN= *K 400 65.8 6.2|421 430 INDV-2 #K 500 66.0 6.0
524 558 3y V-4 +K 200 68.0 4.0(427 422 3NN= v5 400 65.8 6.2|427 424 INDV-2 K 500 66.0 6.0
445 456 INDN= 42 180 65.0 7.0(434 450 3NN= *K 400 65.8 6.2439 447 INDV-2 v¥K 500 66.0 6.0
535 547 INDN= ¥vA 180 65.0 7.0(436 448 3NN= *K 400 65.8 6.2|524 556 INDV-2 &K 500 66.0 6.0
425 424 INN+2 &T 150 59.0 13.0 (544 538 3N N= *K 400 65.8 6.2|526 554 INDV-2 &K 500 66.0 6.0
437 447 2y V-3 ¢K 150 59.0 13.0 (444 457 3v V-3 ¢J 300 586 13.4(428 423 INV-2 &K 200 53.0 19.0
534 548 INN+2 ©vA 150 59.0 13.0 (451 433 3v V-3 ¢J 300 58.6 13.4(431 455 INDV-1 vA 200 53.0 19.0
545 537 2v V-3 ¢K 150 59.0 13.0 (430 454 2y V-2 ¢J 200 504 216|438 448 INV-2 &K 200 53.0 19.0
431 453 INN+1 ©vA 120 54.0 18.0 (524 558 3v V-2 ¢J 200 504 21.6(523 557 INV-2 &K 200 53.0 19.0
434 450 2y O-2 &8 100 46.0 26.0 (534 548 2y V-2 ¢J 200 504 21.6(532 548 3¢ V-2 YA 200 53.0 19.0
438 446 2y V-2 K 100 46.0 26.0 (535 547 3vyDV-1 ¢Q 200 504 216|549 531 INV-2 &K 200 53.0 19.0
442 459 2y V-2 ¢K 100 46.0 26.0 (536 546 34D O-1 ¢A 200 504 21.6(551 529 INDV-1 v¥K 200 53.0 19.0
444 457 34 O-2 4A 100 46.0 26.0 (545 537 2v V-2 ¢J 200 50.4 21.6(555 525 INDV-1 ¥K 200 53.0 19.0
460 439 INDO-1 v9 100 46.0 26.0 (438 446 3¢ S+1 ¢vK 130 43.2 28.8(534 546 INN+2 vJ 150 44.0 28.0
528 554 2y V-2 ¢K 100 46.0 26.0 (449 435 3¢ S= vK 110 40.1 319443 459 2y N+1 &9 140 42.0 30.0
536 546 2¢vDV-1 ¢K 100 46.0 26.0 (528 554 3¢ S= vK 110 40.1 319433 453 2# S+2 4A 130 39.0 33.0
426 423 INN-= +6 90 31.0 41.0|428 421 3v V-1 ¢ 100 28.8 43.2 (522 558 3#S+1 +A 130 39.0 33.0
430 454 INN= vA 90 31.0 41.0|431 453 3v V-1 ¢ 100 28.8 43.2 (429 422 3# N= vJ 110 27.0 45.0
443 458 1NN = +8 90 31.0 41.0|432 452 34 O-1 +A 100 28.8 43.2 (444 458 2 N+1 ¢4 110 27.0 45.0
449 435 2¢ S= *A 90 31.0 41.0|442 459 2v V-1 ¢J 100 28.8 43.2 (445 457 3& N= vl] 110 27.0 45.0
533 549 INN= vA 90 31.0 41.0|443 458 34 O-1 K 100 28.8 43.2 (446 456 2v S= 2 110 27.0 45.0
550 532 INN= vA 90 31.0 41.0|445 456 3v V-1 ¢ 100 28.8 43.2 (452 434 3&# N= vl] 110 27.0 45.0
552 530 2¢ S= *A 90 31.0 41.0|522 521 3v V-1 ¢J 100 28.8 43.2 (521 559 3# N = v] 110 27.0 45.0
556 526 2¢ S= a] 90 31.0 41.0|531 551 3v V-1 ¢J 100 28.8 43.2 (528 552 3# N = +6 110 27.0 45.0
432 452 24 V-1 ¢K 50 19.0 53.0|552 530 34 O-1 &6 100 28.8 43.2 (543 537 3# N= vl] 110 27.0 45.0
436 448 14 O-1 &7 50 19.0 53.0|437 447 3NDN-1 K -100 16.5 55.5|544 536 2v N= *9 110 27.0 45.0
451 433 24 V-1 ¢K 50 19.0 53.0|533 549 3¢ S-2 v¥K -100 16.5 55.5|560 539 3& N = +4 110 27.0 45.0
529 553 2v V-1 ¢K 50 19.0 53.0|550 532 3¢ S-2 +A -100 16.5 55.5|535 545 2¢ O = v3 -90 16.0 56.0
523 559 2# V= a7 -90 14.0 58.0 (425 424 2v V= +J -110 9.3 62.7 (435 451 INN-1 ¢5 -100 13.0 59.0
427 422 24 S-1  #A -100 8.0 64.0(523 559 2v V= +J -110 9.3 62.7 (437 449 4v S-1  #A -100 13.0 59.0
455 429 INN-1 45 -100 8.0 64.0(525 557 1v V+1 ¢ -110 9.3 62.7|527 553 3¢ O= *4 -110 10.0 62.0
522 521 INN-1 vA -100 8.0 64.0 (556 526 2v V= +J -110 9.3 62.7 (426 425 1INV +2 YA -150 8.0 64.0
527 555 INN-1 &T -100 8.0 64.0(539 543 2NDN-2 v¥5 -300 4.1 67.9|530 550 2¢DO= 3 -180 6.0 66.0
531 551 24 S-1 &K -100 8.0 64.0 (455 429 2¢vyDV +1 ¢J -870 1.1 70.9|533 547 44DN-1 ¢5 -200 4.0 68.0
525 557 2¢DS-1 &J -200 1.0 71.0(460 439 2¢vyDV+1 ¢J -870 1.1 70.9 (432 454 3NV = aT -600 2.0 70.0
539 543 24 S-2 &A -200 1.0 71.0(560 - 37.6 450 436 3¢DO= v9 -670 0.0 720
560 - 37.6 527 555 A-/A- 28.8 28.8|538 - 35.8
40 4106 Basta kontrakt
Vast v 1075 5v V =-450
Ingen + 8742
#D1063 & ¢ v & NT
4 EK75 4832 N5 2242
vD4 v KKn862 S52242
+ D103 ¢ K965 O 7 11119 9
#E982 &K vV 7 11119 9
# DKn94
vE93
4+ EKn
#Kn754
Par Kontr Ut Res Poang
555 525 3NV -3 &T 150 72.0 0.0
432 454 3% N = +6 110 70.0 2.0
446 456 3NV -2 &6 100 66.0 6.0
452 434 3NV -2 &6 100 66.0 6.0
533 547 3NV-2 &6 100 66.0 6.0
426 425 3NV-1 %6 50 58.0 14.0
437 449 3NV -1 &7 50 58.0 14.0
439 447 3NV -1 &3 50 58.0 14.0
521 559 3NV-1 #6 50 58.0 14.0
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527
433
549
435
450
427
443
444
526
532
534
543
551
522
421
431
438
460
523
528
530
535
544
560
428
445
524
429
538

553
453
531
451
436
424
459
458
554
548
546
537
529
558
430
455
448
442
557
552
550
545
536
539
423
457
556
422

<<Oo<<

50
-100
-120
-150
-200
-400
-400
-400
-400
-400
-400
-400
-400
-420
-430
-430
-430
-430
-430
-430
-430
-430
-430
-430
-460
-460
-800
-1100

5
5
5
4
4
3

8.0
2.0
0.0
8.0
6.0
7.0

14.0
20.0
22.0
24.0
26.0
35.0
35.0
35.0
35.0
35.0
35.0
35.0
35.0
44.0
55.0
55.0
55.0
55.0
55.0
55.0
55.0
55.0
55.0
55.0
67.0
67.0
70.0
72.0
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